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Question Number : 1 Question Id : 9277596895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
CEHL : BDGK :: EGIN : ?

Options :

1. ¥ DFIM
2. % CGIM
3. ®* CFIM
4. % DFIM

Question Number : 1 Question Id : 9277596895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B S R Ue J I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
CEHL : BDGK :: EGIN : ?

Options :

1. ¥ DFIM
2. % CGIM
3. ¥ CFIM
4. ¥ DFIM

Question Number : 2 Question Id : 9277596896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Nobel Prize

2. # Bharat Ratna

3. % Padma Bhushan
4. * Vir Chakra

Question Number : 2 Question Id : 9277596896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o T i3 dRich 1 90 8 | gTallich, T [dahed o A &1 TRE ol 6| 3% [Adhed HI Ia- B off 30 J 3T |
Options :

1. ¢ T IR

2. ® HRAd

3. % U= Yy

4. % 4RI

Question Number : 3 Question Id : 9277596897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ®# CFJO
2. % XAEJ
3. ¥ SVZD
4. % LOSX

Question Number : 3 Question Id : 9277596897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te Ay e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 4 3T |
Options :

1. * CFJO

2. % XAEJ

3. % SVZD

4. % LOSX

Question Number : 4 Question Id : 9277596898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:
C,K,E,H,GEI

Options :

1. % G

2.% K

3.B

4. % D

Question Number : 4 Question Id : 9277596898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad &R e o1 Q1
C,KEHGETIL_

Options :

1. * G

2. % K

3.8

4. % D

Question Number : 5 Question Id : 9277596899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the given series.
1215, 1216, 1220, 1247, 1603

Options :
1. # 1216
2. % 1220
3. % 1247
4. ¥ 1603

Question Number : 5 Question Id : 9277596899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TS ST | TTAd Ue J1d pI |
1215, 1216, 1220, 1247, 1603

Options :
1. ® 1216
2. % 1220
3. % 1247
4. ¥ 1603




Question Number : 6 Question Id : 9277596900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.
Statement:

Z<N;F>=N;F<K

Conclusions:

[.LK=N

II.K>Z

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Either conclusion I or II follow

4. % Both conclusion I and II follow

Question Number : 6 Question Id : 9277596900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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DY

Z<N;F>N;F<K

[.K=N
II.LK>Z
Options :

1. % Had (sHY [ 3T HT §
2. ¢ Had (BN 11 SR Hal §
3. % gy fsems 1 37 11 SRR el §
4. % F5HY [ SR 11 THT TR0 B §

Question Number : 7 Question Id : 9277596901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

There are six persons P, Q, R, S, T, U who have different weights. Only two persons have less weight than T. R has less weight than Q but more
than P. Q has a weight less than only two persons. U has more weight than S. How many persons have greater weight than R?

Options :
1. % One
2. % Two
3. ® Three
4. ¥ Four

Question Number : 7 Question Id : 9277596901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B AGIP, Q, R, S, T, U § FoIT YR SIAT-3CNT ¢ | Had &l ATddl ST UR THHH G| R BT YR Q A HH ¢ Wich P J 3RIH 581 Q I
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Options :

1. % U

2. % g

3. % G

4.¢ IR

Question Number : 8 Question Id : 9277596902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most logical course of action for the following scenario.

While driving the car, you hurt some one by accident. You

Options :

1. # would not stop your car and will go away.

2. ¥ would stop the car, give him first aid and then take him to the doctor.
3. % would stop the car and will start arguing with him.

4. ¥ would stop the car, give him first aid and then leave him there.



Question Number : 8 Question Id : 9277596902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad ulke=a o fore ®RaTs &1 e difdd Uieushd - |
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Options :

1. % 3O St T8 A 3R TS S |

2. ¢ BRIABI, TS ITAR <71 3R TR Fifrcqed & o o Sma |
3. % HRABI 3R ITY 89 H AT |

4. % HR AP, IV TS ITIR 7 3R b I 781 BIs 71

Question Number : 9 Question Id : 9277596903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following information to answer the question given below:

If a person wants to apply for the Indian passport he needs certain documents.

Documents required are:

1) Birth certificate

2) Aadhar card

3) Permanent address proof for more than 10 years.

4) Last educational qualification certificate.

If some of the above condition not fulfilled then,

la) If a person does not have Birth certificate, then he must attach his 10th class certificate.

2a) If a person does not have Aadhar card, his passport will not be processed.

3a) If a person does not have permanent address proof then his parents passport should be attached and then his passport will be processed but
will take 2 months extra time to issue the passport.

4) If 1, 2, and 3 not fulfilled and also he failed to show 1a), 2a), and 3a) his passport process will be rejected.

Sumit want to go abroad for further studies. He applied for Indian passport. He attached his parents Indian passports with his passport application
since his father working in a private sector, they do not live in a city for more than 4 years. And for his birth certificate, he attached his 10th mark
sheet. He also has an Aadhar card. He attached his graduation degree with the application form.

Options :
1. *¥ His passport will be issued on time.
2. % His passport will not be processed.

3. ¥ It will take 2 months extra to issue the passport.



4. % His passport will be rejected.

Question Number : 9 Question Id : 9277596903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % JYb YNUIE TR HIATS Al bl S|

3. ¢ TIIUIE SR} B | 2 A A 1 Sifaad g7g &R |
4. % IYH] YU IE B (a1 S|

Question Number : 10 Question Id : 9277596904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number in the given series:
1, 3126, 3751, 3876, , 3906



Options :
1. ¥ 3901
2. % 3903
3. % 3905
4. % 3899

Question Number : 10 Question Id : 9277596904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 TS I H qud e I B
1, 3126, 3751, 3876, _, 3906

Options :
1. ¥ 3901
2. % 3903
3. % 3905
4. % 3899

Question Number : 11 Question Id : 9277596905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following information carefully to answer the given question: C %4 G7$Q65+3 & LS#T71 @
How many such numbers are there in the above arrangement each of which are immediately preceded by a number and followed by a symbol?

Options :
1. #* One
2. ¥ Two
3. % Three

4. # Four

Question Number : 11 Question Id : 9277596905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7T U8 1 IR o o fore FHfeiRad TSR &1 eaMyde ST #: C %4 G7$Q65+3 & LS#T71 @
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Options :

1. ®# Ub

2.4

3. %

4. % TR

Question Number : 12 Question Id : 9277596906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many such pairs of letters are there in the word 'PROMOTION', each of which has as many letters between them in the word ( both forward
and backward direction ) as they have between them in the English Alphabet ?

Options :
1. #* One
2. % Two
3. % Three

4. % Four

Question Number : 12 Question Id : 9277596906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U

2. % T

3.9 dH

4. % TR

Question Number : 13 Question Id : 9277596907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



At a family gathering, there are 6 members present - A, B, C, D, E, and F. C is the daughter of A, and her brother is D. F is the only child of E,
and E is married to C. B is the mother of D. There are two couples present at the gathering. D's both parents are present in the gathering. There
are four males in the family.

How is A related to F?

Options :

1. % Paternal grandfather
2. ¥ Maternal grandfather
3. #¥ Paternal grandmother

4. ® Maternal grandmother

Question Number : 13 Question Id : 9277596907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. #® alal
2.9 Al
3. % grdl
4. % AT

Question Number : 14 Question Id : 9277596908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six girls, Kusum, Chanda, Preeti, Simran, Priya, and Aarti, get the chance to become the monitor of their class for one day as per rotation policy.
Days are from Monday to Saturday. Chanda becomes the monitor of the class four days after Preeti. One person became the monitor after Kusum
but before Simran, also at least three people became monitor before Kusum. Who is the monitor of the class on Monday?

Options :

1. ¥ Preeti
2. % Kusum
3. # Chanda

4. % Simran



Question Number : 14 Question Id : 9277596908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Tifq

2. % pYH
3. % gql
4, % A

Question Number : 15 Question Id : 9277596909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a leakage at the bottom of the tank which can empty the tank in 60 hours. Pipe A can fill the tank in 10 hours while pipe B can empty the
tank in 40 hours. If pipe A alone opened till 3/4th tank gets filled and then pipe B is opened. In how many hours tank gets completely filled?

Options :

1. * 89/5 hours
2. * 7T74/7 hours
3. % 93/7 hours
4. * 93/5 hours

Question Number : 15 Question Id : 9277596909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 89/5°c




2. ® 74/74c
3.+ 93/7 ¢
4, % 93/59¢

Question Number : 16 Question Id : 9277596910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



Question Number : 16 Question Id : 9277596910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 17 Question Id : 9277596911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ® Image 1



2. ¥ Image 2
3. % Image 3
4. % Image 4

Question Number : 17 Question Id : 9277596911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bfd 1
2. Bfd2
3. % Bfd3
4. % Bfd4

Question Number : 18 Question Id : 9277596912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figure is the correct mirror image of the given figure?

Options :



Question Number : 18 Question Id : 9277596912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 19 Question Id : 9277596913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, 'Group A' represents those who study 'Arts', 'Group B' represents those who study 'Commerce' and 'Group C'
represents those 'Science'. The number given in the diagram represents the member of persons of that particular category.

How many persons study only Arts or only Commerce?

Options :
1. % 21
2. % 11
3.% 7
4. ¥ 14

Question Number : 19 Question Id : 9277596913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 21
2. % 11
3.% 7
4. ¥ 14

Question Number : 20 Question Id : 9277596914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

Question Number : 20 Question Id : 9277596914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4 faeped! & 9 11 O (e U H [T T ger o b SR IR 81§11 Sff Heball &




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
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Question Number : 21 Question Id : 9277596915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has launched the operation Sankalp to protect Indian vessels in the Gulf region?
Options :

1. ¥ Indian Navy

2. # Indian Army

3. # Indian Air force

4. % Central Reserve Police force

Question Number : 21 Question Id : 9277596915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgm TSt & B YR TgToh &1 YRef & o SiRem Taved T faar 82
Options :

1. ¢ YRR AT

2. % YR T

3. % YR arg 1

4. % B Rerd gferd 9a

Question Number : 22 Question Id : 9277596916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following organisation has successfully conducted the third long-duration hot test of liquid fuel-powered, Vikas Engine for the
Gaganyaan Program?

Options :

1. ¥ NASA(National Aeronautics and Space Administration)
2. % ISRO(Indian Space Research Organisation)

3. % JAXA(Japan Aerospace Exploration Agency)

4. % CNSA(China National Space Administration)



Question Number : 22 Question Id : 9277596916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed o 9 forg WTed 3 T SrsH o o7 dRd 387 9 ga- a1, [a®mM S0 &t diex] dall @i &l dud TRIE0 Fhadiydd
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Options :

1. % ST QISR JHIDT 3R SIRel Uae)
2. ¢ SR (YR 3idRel SIHH HT3)

3. % SITGRIT (STUTT aTwaTiRel S{=awoT BT )
4. % CNSA (-1 IS Sidivar U=imH)

Question Number : 23 Question Id : 9277596917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who founded 'Brahmo Sama;j'?

Options :

1. ¥ Raja Rammohan Roy

2. % Swami Vivekananda

3. % Aurobindo Ghose

4. ® Suredranath Banerjee

Question Number : 23 Question Id : 9277596917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for et "STRT THTST DT R B2
Options :

1. ¢ ST HATE I

2. % WAt fadd<

3. % 3Rfd< O

4. % J¥EATY S



Question Number : 24 Question Id : 9277596918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did Gandbhiji start the 'Quit India Movement'?
Options :

1. % August 1945

2. % August 1949

3. ¥ August 1942

4. % July 1942

Question Number : 24 Question Id : 9277596918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSl 7 YR BIS! SfiGIe ha YR= fodm U1
Options :

1. % 3T 1945

2. % 3 1949

3. ¥ 31X 1942

4. % JATE 1942

Question Number : 25 Question Id : 9277596919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is one of the objectives of NITI Aayog?

Options :

1. ¥ To share vision of national development with the State.
2. ® To share vision of central oriented development

3. % To share vision of good international relation

4. % To share vision related to election commission

Question Number : 25 Question Id : 9277596919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 & ifd S & I § I TH g2
Options :

1. ¢ Y b 1Y AP fdebT BT TR 1 IS HRAT
2. % Dot YA fAH™ B UReb T o F1Z Bl

3. % 3y SARIPIY Heiehl Bl URBUT Bl AT BT

4. % G AT AT TR T B 1L HRAT

Question Number : 26 Question Id : 9277596920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which amendment act of the constitution, right to property has been taken away from Fundamental Rights?
Options :

1. ¥ 42nd Amendment

2. ¥ 44th Amendment

3. % 54th Amendment

4. % 55th Amendment

Question Number : 26 Question Id : 9277596920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & g Ine iffaw grRr, Tufy & SfeR & Mt SifteRY 3 ger fear mn g2
Options :

1. % 4291 GMe=

2. ¥ 4491 GRNYH

3. % 5497 GRYH

4. % 5597 GRMYA

Question Number : 27 Question Id : 9277596921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From which of the following countries, Rugby originated?
Options :

1. # India

2. % England

3. # New Zealand

4. # Australia

Question Number : 27 Question Id : 9277596921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed & 9 fbg qx 4, Well &1 Safi gs o2
Options :

1. % HRd

2. ¥ FlS

3. % golidl

4. % Sfiefern

~

Question Number : 28 Question Id : 9277596922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is known as the 'Flying Sikh'?
Options :

1. % Usain Bolt

2. % Jesse Owens

3. % Milkha Singh

4. % Mo Farah

Question Number : 28 Question Id : 9277596922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea o Q f5d S Re & 98 ST SI1d1 82

Options :



1. % I dice
2. % ST 3fa=
3. « e Rig
4. % T HRIE

Question Number : 29 Question Id : 9277596923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which of the following states, 'Kathakali' dance has originated?
Options :

1. ¥ Kerala

2. % Mabharashtra

3. % Bihar

4. # Uttar Pradesh

Question Number : 29 Question Id : 9277596923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofifed & @ fg T ., Suddl Td B IARTES 82
Options :

1. v B

2. % HeRIY

3. % fagR

4. % JRYGY

Question Number : 30 Question Id : 9277596924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Indian mythology, who sung Shiva Tandava Stotra?
Options :

1. ¥ Ravana



2. #* Kumbhkarana
3. # Vibhishana

4. % Tarakasura

Question Number : 30 Question Id : 9277596924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTT URTIOIE HUT3l & TR, RIa drvsd Wi farem 7 ur
Options :

1. % X[dU]

2. % HUIHT

3. % faiigo

4. % dRPIYR

Question Number : 31 Question Id : 9277596925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ozone layer exists in which among the following regions of the atmosphere?
Options :

1. ¥ Stratosphere

2. % Mesosphere

3. % Thermosphere

4. % Exosphere

Question Number : 31 Question Id : 9277596925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T IR IgHSd & FgfaRad & 9 frg &7 & Aieg 82
Options :

1. ¢ JHJUHUS T

2. % HYHUSH



3. ® dUHTSA
4. % dlgHUSA

Question Number : 32 Question Id : 9277596926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which among the following cities, headquarters of 'International Union for Conservation of Nature and Natural Resources' is located?
Options :

1. # Washington DC

2. % Vienna

3. ¥ Gland

4. % London

Question Number : 32 Question Id : 9277596926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFroferied & 3 fra weR &, Uopfa Td Ul et & SiaRiga TReT T8 1 JRererd fRud 82
Options :

1. % qiRjre St 4l

2. % fqgn

3. ¥ T

4. ® e

Question Number : 33 Question Id : 9277596927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the Central office of the RBI (Reserve Bank of India)?
Options :

1. # Kolkata

2. % Mumbai

3. ¥ Pune



4. % Delhi

Question Number : 33 Question Id : 9277596927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RBI (HRA Roid §%) &1 Ha draferd wal fRud 82

Options :

Question Number : 34 Question Id : 9277596928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Red Litmus changes to Blue, then what is the nature of the substances?
Options :

1. # Acidic

2. ¥ Basic

3. % Neutral

4. ¥ hydrophobic

Question Number : 34 Question Id : 9277596928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g aTa ferem™ -iel 7 ¥ 95 Srdn 8, o Uardf &t Ui 1 82
Options :

1. % 3w

2. ¥ &Y

3. % dcy

4. % ScfaRie



Question Number : 35 Question Id : 9277596929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'B' is the radial outward velocity of galaxy, 'D' is the distance of galaxy from Earth, and 'H' is the Hubble constant. Then, B = ?
Options :

1.¥"HxD

2.% H+D

3. H-D

4. ¥ H+D

Question Number : 35 Question Id : 9277596929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ‘B! Aalich-1! &1 5T S18<T 971 &, 'D' Tt ¥ Healich-t Bi g1l 8, 3R 'H' 89 (RR(B g1 dl, B=2?
Options :

1.¥" HxD

2.%¥ H+D

3. H-D

4. ¥ H+D

Question Number : 36 Question Id : 9277596930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has discovered Radium?
Options :

1. * Henry Becquerel

2. % Michael Faraday

3. % Enrico Ferni

4. % Marie and Pierre Curie

Question Number : 36 Question Id : 9277596930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafea & 9 feam Yeaw & Wie &t g2
Options :

1. % I dohRdd

2. % HESHA WIS

3. % Tile! wHf

4. ¢ T SR R &=

Question Number : 37 Question Id : 9277596931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has discovered X-Rays?

Options :

1. ¥ Roentgen

2. % Anderson

3. ¥ Becquerel

4. # Chadwick

Question Number : 37 Question Id : 9277596931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R TRt et e

Options :

1. ¢ T

2. % TS

3. % dovd

4. % Jsfad

Question Number : 38 Question Id : 9277596932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarter of WEF (World Economic Forum)?
Options :

1. ¥ Geneva

2. % Washington DC

3. % New York

4. ¥ Manila

Question Number : 38 Question Id : 9277596932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WEF (fay snfifep #a) &1 Jererd g1 Rd &2
Options :

1. ¢ forar

2. % qiRfTe 1. 4l

3. % ghiD

4. % T

Question Number : 39 Question Id : 9277596933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of 'A Dangerous Place'?
Options :

1. ¥ D.P.Moynihan

2. # Leo Tolstoy

3. % Mark Twain

4. % Lewis Carrol

Question Number : 39 Question Id : 9277596933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SRY WY P AGD DI 82



Options :

1. ¢ 1.4 aHEH
2. % Qg diadd
3. % A ¢

4. % T2 HA

Question Number : 40 Question Id : 9277596934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has written 'Geetanjali'?

Options :

1. ¥ M.K.Gandhi

2. ¥ Rabindra Nath Tagore

3. # Kalidas

4. # Vishnu Sharma

Question Number : 40 Question Id : 9277596934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forae tateter fordl 82

Options :

1. % TH.H I

2. ¢ TG TR

3. % Bifcia™

4, % fqwp 3w

Arithmetic Ability

Group Number : 3
Group Id : 927759251

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 927759274
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759325
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277596935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark(?) in the following question?

54% of 700 + 25% of 616 = 39% of 1300 + ?
Options :

1. ¥ 25

2. % 35

3. % 65

4. % 15



Question Number : 41 Question Id : 9277596935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad us H usiaras g (2) & R IR &7 1T

54% of 700 + 25% of 616 = 39% of 1300 + ?
Options :

1. ¥ 25

2. % 35

3. % 65

4. % 15

Question Number : 42 Question Id : 9277596936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value will come in the place of question mark(?) in the following question?

497.01 +12.97 - 55.03 = ? % of 500
Options :

1. %® 19

2. % 81

3.¥ 91

4. % 34

Question Number : 42 Question Id : 9277596936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAgferfad uy o usiara® fmg (2) & RIM TR AU fba1 A4 ST

497.01 +12.97 - 55.03 = ? % of 500
Options :

1. * 19

2. % 81



3.¢91
4. % 34

Question Number : 43 Question Id : 9277596937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark(?) in the following question?

(3/7)+(4/3) x(7/9) x9+3=7
Options :

1. % 0.5

2. % 1.25

3.% 1

4. % 0.75

Question Number : 43 Question Id : 9277596937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAoferfad uy o usiarae feg (2) & QI TR &1 3T

(B/7)+(4/3)x(7/9)x9+3=7
Options :

1. * 0.5

2. % 1.25

3.% 1

4.4 0.75

Question Number : 44 Question Id : 9277596938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six bells commence tolling together and toll at intervals of 3, 4, 5, 6, 10 and 12 seconds respectively. In 30 minutes, how many times do they toll
together?

Options :



1. # 30
2. ¥ 31
3. % 15
4. % 16

Question Number : 44 Question Id : 9277596938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B¢ ©fcal Th AU IO & Hall § AR BUR: 3,4, 5, 6, 10 3R 12 TS & SIaRTa W ot ¢ 1 30 e H, 3 fora1 IR T 1Y Folclt 62
Options :

1. # 30

2.9% 31

3. % 15

4. % 16

Question Number : 45 Question Id : 9277596939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let N be the greatest number that will divide 1205, 4265 and 6705, leaving the same remainder in each case. Then sum of the digits in N is:
Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 45 Question Id : 9277596939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QHW%NWE@H@T%@ 1205, 4265 3R 6705 B! faHIRIT BT, I vl fRUfT & T9H Auwd Sref| b N # 3iept &1 3T
dptions:

1. %1



2.2
3. %3
4. % 4

Question Number : 46 Question Id : 9277596940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The present ages of A and B are in the ratio 7 : 9. After 'x' years the ratio of their ages becomes 4 : 5 and 'x + 6' years ago the ratio of their ages
was 18 : 25. Find the sum of their ages after 'x' years.

Options :

1. ¥ 126 years
2. % 120 years
3. % 130 years
4. % 136 years

Question Number : 46 Question Id : 9277596940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B P IdHM MG 6T U 7: 9 81 'x' T b F1G I AT BT UM 4 : 5 81 ST 8 3R 'x + 6' TY UGS I 3T HT UM 18 :
25 71 'x' T & TG SAD! 3G BT T I DY |

Options :

1. 12699

2. % 12099

3. % 13099

4. % 13694

Question Number : 47 Question Id : 9277596941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the ages of Sourav, Gourav and Vaskar is 102 years. The ratio of their ages 12 years ago 1 : 2 : 3. What is the present age of Vaskar?
Options :

1. % 44 years



2. % 33 years
3. % 45 years
4. % 38 years

Question Number : 47 Question Id : 9277596941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRa, TR 3R TH B TG BTN 102 T8 g1 12 T8 Yd Sb1 AT BT U 1 : 2 : 3 YT TRBR DI GIHM 311 &1 ]2
Options :

1. % 4499

2. % 3399

3.9 4599

4. % 38394

Question Number : 48 Question Id : 9277596942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit seller had some mangoes. He sells 45% of them and still has 550 mangoes. Find the number of mangoes he initially had.
Options :

1. % 900

2. %1000

3. % 1200

4. % 1600

Question Number : 48 Question Id : 9277596942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Bd [Aohdl & U $© 31 A1 T8 38 U 45% S9d g 3R 31t o 30 U 550 30 § | T T P U AT MTH Bt ISAT 1 Be |
Options :

1. % 900

2. %1000



3. % 1200
4. % 1600

Question Number : 49 Question Id : 9277596943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town increased from 75,000 to 1,00,00 in a decade. The percent increase of population in a decade is:
Options :

1. * 30%

2. ¥ 3333%

3. % 25%

4. % 20%

Question Number : 49 Question Id : 9277596943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP G B U B B AT 75,000 T TGHR 1,00,00 B TS | Th G=1h H S-RSAT 1 Uia=id 3G 6:
Options :

1. ® 30%

2. ¥ 3333%

3. % 25%

4. % 20%

Question Number : 50 Question Id : 9277596944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of five consecutive numbers is 57. Find the difference between the highest and lowest number among these 5 numbers.
Options :

1. %2

2.9 4

3.% 3

4. % 8



Question Number : 50 Question Id : 9277596944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui ShATT TBT3N BT 3id 57 81 31 5 GBamsli # gad gt 3R oy BIc! &1 & & BT 3ieR J1d B |
Options :

1. %2

2.9 4

3.%3

4, % 8

Question Number : 51 Question Id : 9277596945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman, Bittu, Chaman and Dinesh are 4 members in a family. The age of Aman is (2/3)rd of the average age of a family. The age of Bittu is 80%
of the age of Aman. The age of Dinesh is 150% more than the age of Bittu. Find the age of Aman if the difference between the age of Chaman
and Dinesh is 5 years.

Options :

1. ® 20 years
2. % 50 years
3. % 25 years
4. % 55 years

Question Number : 51 Question Id : 9277596945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31, faeg, 90 3R 371 U URaR & 4 T | 3 &1 31 Ue URAR $1 3NId A BT (2/3)d1 g | [Ieg Bt 31 3 &1 31g Bt
80% &1 fom= &t 31g faeg &Y g A 150% 3% § 1 3H P TG AT HX IS T 3R [ Pt 31 & o T 3R 5 ¥ 7
Options :

1. % 2099

2. % 50T9

3.9 25T



4. % 5599

Question Number : 52 Question Id : 9277596946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R started a business by investing Rs. 4050, Rs. 4500 and Rs. 6000 respectively. After 6 months R withdrew Rs. 1500 while P invested
Rs. 4500 more. In annual profit of Rs. 6420, the share of P will exceed that of R by:

Options :

1. ¥ Rs. 320
2. % Rs. 220
3. % Rs. 350
4. ¥ Rs. 420

Question Number : 52 Question Id : 9277596946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q 3R R 3 SHH: 4050 TUT, 4500 FUY 3R 6000 TYT HT AR B Uh Hadg = ATl 6 HelH & &1 R A 1500 FUT fHab1a forg
ST P 3R 4500 ¥UT Fa% fHU| 6420 TTT & a1 arH &, p H1 fe 99 GRIR ¥ 34 g1 Sem:

Options :

1. # 320%U¢
2. % 220%Uq
3. % 350®4¢
4. % 42047

Question Number : 53 Question Id : 9277596947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of a packet milk is Rs. 30 per litre but a trader is labelling it as Rs. 40 per litre. Also he mixes 50% water and gives a 30%
discount. Find the Profit Percentage of trader.

Options :
1. % 25%
2. % 40%



3. % 45%
4. % 50%

Question Number : 53 Question Id : 9277596947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Uobe g8 T T G 30 JUT f Tiiex & Ak U STaR} 3 40 3UT U efier & U H A B 38T 8 | 1Y &1 a8 50% Tt i
g 3R 30% &1 Fe &l ¢ | ATURT BT aH Wia=Td J1d B

Options :

1. # 25%

2.9 40%

3. % 45%

4. % 50%

Question Number : 54 Question Id : 9277596948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader buys goods at a 15% discount on the label price. If he wants to make a profit of 20% after allowing a discount of 40%. By what percent
should his marked price be greater than the original label price?

Options :
1. * 50%
2. % 40%
3. * 60%
4. 70%

Question Number : 54 Question Id : 9277596948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AURI d9d Jod W 15% T TR THM WRIGdT ¢ | Tfe T8 40% BT FT SR 20% BT ATH fold H31 dTedl ¢ | 39T ifhd Jed, Jd
ded god 9 fovaq ufawrd sifde g =nfge?

Options :

1. ® 50%




2. % 40%
3. # 60%
4.9 70%

Question Number : 55 Question Id : 9277596949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio between Simple interest of 2 years and the Difference between Compound interest to simple interest of 2 years is 20 : 1. Find out the
rate of interest per annum.

Options :
1. ®* 5%
2.9 10%
3. % 25%
4. % 12.5%

Question Number : 55 Question Id : 9277596949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 2 Ty & WTYRU TS 3R 2 T & WYR TS J Thgfeg TSl & §1d P SR BT U 20 : 1 81 UT I8 &S BT &2 J1d By |
Options :

1. * 5%

2. 9% 10%

3. % 25%

4. % 12.5%

Question Number : 56 Question Id : 9277596950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The slant height of a right circular cone is 5 m and its height is 4 m. Find its curved surface area.
Options :

1. * 30w sq. m

2. % 151sq. m



3. % 20msq. m
4. % 251sq. m

Question Number : 56 Question Id : 9277596950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TG WP &1 fades SaTS 5 m 3R STBT ST 4 m & | IHDT b YEIT &6 J1d B |
Options :

1. # 30msq. m

2. ¥ 151sq. m

3. % 20msq. m

4. % 251 sq. m

Question Number : 57 Question Id : 9277596951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tank is filled by a pipe in 4 hours. It is observed that due to leakage the tank is filled in 5(1/3) hours. Find the time taken by leakage to drain out
all the water of the tank.

Options :

1. * 12 hours
2. * 13 hours
3. * 15 hours
4. ¥ 16 hours

Question Number : 57 Question Id : 9277596951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T P UI3Y §RT 4 B T 4RT ST | | T8 <171 1 § fob g & ot &bt 5(1/3) e H WR M1l 81 St T IRT U fepTem H g
SR foran a1 9y I He
Options :

1. ® 129
2. % 134




3. % |54c
4.¢ 164

Question Number : 58 Question Id : 9277596952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains A and B are running in opposite directions. Speed of A is thrice as speed of B and they cross each other in 56 seconds. If the train A
passes a standing man in 54 seconds then, what is the time taken by train B to cross the same person?

Options :

1. # 54 sec
2. % 45 sec
3. % 68 sec
4, ¥ 62 sec

Question Number : 58 Question Id : 9277596952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Yemfeat A 3R B faudia fazmatt & wa W €1 A #1 71f4, B S A § fH 71 8 3R 3 Th TR Bl 56 s T UR el o | A IS A
WS fed B 54 Vb A UR Hall @, dl ITTS! B &I I safed &1 UR B H fba1 g97a e

Options :

1. % 54953

2. % 4548

3. % 68 Yhg

4. v 2B S

Question Number : 59 Question Id : 9277596953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph represents the number of people in a district who use different SIM cards. If ratio of Male and female in Jio SIM and Vodafone
SIM is 5:3 and 6:7 respectively, then find the number of females who use Jio SIM is what percent more/less than the number of males who use



Vodafone SIM.

1400 -
1200
1200 -

1000 -

700

Number of people use different SIM
cards

. 888

I

I ¢

____E

lio Airtel BSNL Vodafone Idea

Options :
1. % 45%
2. % 55%
3. % 40%
4. v 50%

Question Number : 59 Question Id : 9277596953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 45%
2. % 55%
3. % 40%
4. ¥ 50%

Question Number : 60 Question Id : 9277596954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph show the number of units produced and number of units sold by different companies.
Find the total number of units unsold by all the companies.



M Units Produced ™ Units sold

[

b e b

Number of units produced and sold

Company A Company B Company C Company D Company E

Company

Options :
1. % 1000
2. % 1200
3.+ 1100
4. % 900

Question Number : 60 Question Id : 9277596954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1000
2. % 1200
3. ¥ 1100
4. % 900
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Question Number : 61 Question Id : 9277596955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

This is abundantly declared in / their official documents and by / there acknowledgment representatives.
Options :

1. #

This is abundantly declared in

2. % their official documents and by

3. ¥ there acknowledgment representatives.

4. % No Error

Question Number : 61 Question Id : 9277596955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

This is abundantly declared in / their official documents and by / there acknowledgment representatives.



Options :

1. %

This is abundantly declared in

2. % their official documents and by

3. ¥ there acknowledgment representatives.
4. % No Error

Question Number : 62 Question Id : 9277596956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Pass out of an elite institution / and making a distinctive fashion / statement is a double wallop.
Options :

1. ¢ Pass out of an elite institution

2. % and making a distinctive fashion

3. ® statement is a double wallop.

4. ® No Error

Question Number : 62 Question Id : 9277596956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Pass out of an elite institution / and making a distinctive fashion / statement is a double wallop.
Options :

1. ¥ Pass out of an elite institution

2. # and making a distinctive fashion

3. # statement is a double wallop.

4. ® No Error



Question Number : 63 Question Id : 9277596957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the right synonym for " barbaric"
Options :

1. ¥ Savage

2. % Barber-like

3. % Civilized

4. % Kind

Question Number : 63 Question Id : 9277596957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the right synonym for " barbaric"
Options :

1. ¥ Savage

2. % Barber-like

3. # Civilized

4. # Kind

Question Number : 64 Question Id : 9277596958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The goalie (returned), with head bowed in contrition, as the ref showed him the yellow card.
Options :

1. # retrenched

2. # went back

3. ¥ retreated

4. ® No correction required



Question Number : 64 Question Id : 9277596958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The goalie (returned), with head bowed in contrition, as the ref showed him the yellow card.
Options :

1. # retrenched

2. # went back

3. ¥ retreated

4. # No correction required

Question Number : 65 Question Id : 9277596959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Beneath the postmodern gloss of its bright shiny surfaces lies a cleverly core of rational modernity
Options :

1. # blemished

2. % beseeched

3. % disguised

4. % jilted

Question Number : 65 Question Id : 9277596959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Beneath the postmodern gloss of its bright shiny surfaces lies a cleverly core of rational modernity
Options :

1. # blemished

2. # beseeched



3. % disguised
4. % jilted

Question Number : 66 Question Id : 9277596960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

A decent living politician is one who is not actively corrupt, rude, , vile or idiotic.
Options :

1. ¥ obnoxious

2. # pleasant

3. # delightful

4. % amiable

Question Number : 66 Question Id : 9277596960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

A decent living politician is one who is not actively corrupt, rude, , vile or idiotic.
Options :

1. ¥ obnoxious

2. # pleasant

3. % delightful

4. % amiable

Question Number : 67 Question Id : 9277596961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



Mandarin; simplified Chinese:

P. 'speech of officials' is a group of Sinitic

Q. which includes the Beijing dialect, the basis
R. (Chinese) language natively spoken across
S. most of northern and southwestern China

of the phonology of Standard Chinese.
Options :

1. ® QPSR

2. * SQRP

3. ¥ SQPR

4. ¥ PRSQ

Question Number : 67 Question Id : 9277596961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Mandarin; simplified Chinese:

P. 'speech of officials' is a group of Sinitic

Q. which includes the Beijing dialect, the basis
R. (Chinese) language natively spoken across
S. most of northern and southwestern China

of the phonology of Standard Chinese.
Options :

1. ®# QPSR

2. * SQRP



3. % SQPR
4.+ PRSQ

Question Number : 68 Question Id : 9277596962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The UN was established after World War II with the aim of preventing future wars, succeeding the ineffective League of Nations.

P. The Charter was adopted on 25 June 1945 and took effect on 24 October 1945, when the UN began operations.

Q. On 25 April 1945, 50 governments met in San Francisco for a conference and started drafting the UN Charter.

R. It also ensures delivering humanitarian aid, promoting sustainable development, and upholding international law.

S. Pursuant to the Charter, the organization's objectives include maintaining international peace and security, protecting human rights.

At its founding, the UN had 51 member states; with the addition of South Sudan in 2011, membership is now 193, representing almost all of the
world's sovereign states.

Options :

1. ¥ SQRP
2. ¥ QPSR
3. % PQRS
4. % SRQP

Question Number : 68 Question Id : 9277596962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The UN was established after World War II with the aim of preventing future wars, succeeding the ineffective League of Nations.

P. The Charter was adopted on 25 June 1945 and took effect on 24 October 1945, when the UN began operations.



Q. On 25 April 1945, 50 governments met in San Francisco for a conference and started drafting the UN Charter.
R. It also ensures delivering humanitarian aid, promoting sustainable development, and upholding international law.
S. Pursuant to the Charter, the organization's objectives include maintaining international peace and security, protecting human rights.

At its founding, the UN had 51 member states; with the addition of South Sudan in 2011, membership is now 193, representing almost all of the
world's sovereign states.

Options :

1. # SQRP
2. ¥ QPSR
3. ¥ PQRS
4. % SRQP

Question Number : 69 Question Id : 9277596963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ SEVENTIETH

2. % SEVENTEITH

3. % SEVENTETH

4. % SEVENTITH

Question Number : 69 Question Id : 9277596963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ SEVENTIETH

2. % SEVENTEITH

3. ¥ SEVENTETH

4. % SEVENTITH



Question Number : 70 Question Id : 9277596964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

INSULAR

Options :

1. #* PENINSULAR
2. #

CONTINENT

3. %

UNBIASED

4. ¢

DETACHED

Question Number : 70 Question Id : 9277596964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

INSULAR

Options :

1. # PENINSULAR
2. #

CONTINENT

3. %

UNBIASED

4. ¢

DETACHED

Question Number : 71 Question Id : 9277596965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below.

SALACIOUS
Options :

1. %

MORAL

2. ¥ OBSCENE
3. %

CLEAN

4, %
CONSPIRACY

Question Number : 71 Question Id : 9277596965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

SALACIOUS
Options :

1. %

MORAL

2. ¥ OBSCENE
3. %

CLEAN

4. %
CONSPIRACY

Question Number : 72 Question Id : 9277596966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

PASSIVE
Options :
1. ¥ IMPATIENT



2. ®
APATHETIC
3. ®
HARMONY

4. %
SLANDEROUS

Question Number : 72 Question Id : 9277596966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

PASSIVE
Options :

1. ¥ IMPATIENT
2. %
APATHETIC

3. %
HARMONY

4. %
SLANDEROUS

Question Number : 73 Question Id : 9277596967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Cache

Options :

1. ® A large burial ground, especially one not in a churchyard.

2. % A large bedroom for a number of people in a school or institution.
3. #® A Large container.

4. ¥ A collection of items of the same type stored in a hidden or inaccessible place.



Question Number : 73 Question Id : 9277596967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Cache

Options :

1. # A large burial ground, especially one not in a churchyard.

2. # A large bedroom for a number of people in a school or institution.
3. # A Large container.

4. ¥ A collection of items of the same type stored in a hidden or inaccessible place.

Question Number : 74 Question Id : 9277596968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Buckle down

Options :

1. ® To hold your stance.
2. % To slow down

3. # To reduce weight.

4. ¥ To start to work hard

Question Number : 74 Question Id : 9277596968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Buckle down
Options :
1. #® To hold your stance.

2. % To slow down



3. % To reduce weight.
4. % To start to work hard

Question Number : 75 Question Id : 9277596969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

A word to the wise.

Options :

1. # To have a quick talk.

2. % A good piece of advice.

3. % A two minute guest speech.

4. % A wise man speaks less.

Question Number : 75 Question Id : 9277596969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

A word to the wise.

Options :

1. #* To have a quick talk.

2. % A good piece of advice.

3. % A two minute guest speech.

4. ¥ A wise man speaks less.

Sub-Section Number : 2
Sub-Section Id : 927759327
Question Shuffling Allowed : Yes

Question Id : 9277596970 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Karl Otto Lagerfeld was a German creative director, fashion designer, artist, photographer, and caricaturist who lived in Paris. He was known as
the creative director of the French fashion house Chanel, a position held from 1983 until his death, and was also creative director of the Italian fur
and leather goods fashion house Fendi, and of his own eponymous fashion label. He collaborated on a variety of fashion and art-related projects.
Lagerfeld was recognized for his signature white hair, black sunglasses, fingerless gloves, and high, starched, detachable collars. Lagerfeld was
known to misrepresent his birth year, claiming to be younger than his actual age, and to misrepresent his parents' background. For example, he
claimed that he was born in 1938 to "Elisabeth of Germany" and Otto Ludwig Lagerfeldt from Sweden. These claims have been conclusively
proven to be false, as his father was from Hamburg and spent his entire life in Germany, with no Swedish connection. There is also no evidence
that his mother Elisabeth Bahlmann, the daughter of a middle-class local politician, called herself "Elisabeth of Germany". He was known to
insist that no one knows his real birth date. In an interview on French television in February 2009, Lagerfeld said that he was "born neither in
1933 nor 1938".

Sub questions

Question Number : 76 Question Id : 9277596971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of 'Caricaturist' from the given passage?
Options :

1. % A person who studies different cultures.

2. ¥ The art of creating representations.

3. % A person who cultures fabrics.

4. ¥ Someone who exaggerates.

Question Number : 77 Question Id : 9277596972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two assertions are given below (A & B) on the basis of your understanding of the passage, which one of the assertions is correct?

A. Karl Otto Lagerfeld was a German creative director, fashion designer, artist, photographer, and caricaturist who was born in London.

B. He was known to insist that no one knows his real birth date.
Options :

1. % A is correct and B is incorrect



2. % A is incorrect and B is correct
3. # Both are incorrect.

4. % Both are correct.

Question Number : 78 Question Id : 9277596973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two assertions are given below (A & B) on the basis of your understanding of the passage, which one of the assertions is correct?

A. His claims of being born in 1938 to Elisabeth of Germany and Otto Ludwig Lagerfeldt from Sweden are false.

B. Karl Lagerfeld was known as the creative director of the French fashion house Fendi, a position he held from 1983 until his death.
Options :

1. ¥ A is correct and B is incorrect

2. # A is incorrect and B is correct

3. % Both are incorrect.

4. % Both are correct.

Question Number : 79 Question Id : 9277596974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karl Lagerfeld was not recognized for which of the following?
Options :

1. # Fingerless gloves

2. % Gold chains

3. # Detachable collars

4. # Signature white hair

Question Number : 80 Question Id : 9277596975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of 'eponymous' from the given passage?
Options :

1. ¥ One for whom or which something is or is believed to be named.



2. % Something that works on its own.
3. # Collaborate with another company

4. ¥ Something that causes confusion.

Question Id : 9277596970 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Karl Otto Lagerfeld was a German creative director, fashion designer, artist, photographer, and caricaturist who lived in Paris. He was known as
the creative director of the French fashion house Chanel, a position held from 1983 until his death, and was also creative director of the Italian fur
and leather goods fashion house Fendi, and of his own eponymous fashion label. He collaborated on a variety of fashion and art-related projects.
Lagerfeld was recognized for his signature white hair, black sunglasses, fingerless gloves, and high, starched, detachable collars. Lagerfeld was
known to misrepresent his birth year, claiming to be younger than his actual age, and to misrepresent his parents' background. For example, he
claimed that he was born in 1938 to "Elisabeth of Germany" and Otto Ludwig Lagerfeldt from Sweden. These claims have been conclusively
proven to be false, as his father was from Hamburg and spent his entire life in Germany, with no Swedish connection. There is also no evidence
that his mother Elisabeth Bahlmann, the daughter of a middle-class local politician, called herself "Elisabeth of Germany". He was known to
insist that no one knows his real birth date. In an interview on French television in February 2009, Lagerfeld said that he was "born neither in
1933 nor 1938".

Sub questions

Question Number : 76 Question Id : 9277596971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of 'Caricaturist' from the given passage?
Options :

1. ¥ A person who studies different cultures.

2. % The art of creating representations.

3. % A person who cultures fabrics.

4. ¥ Someone who exaggerates.

Question Number : 77 Question Id : 9277596972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Two assertions are given below (A & B) on the basis of your understanding of the passage, which one of the assertions is correct?

A. Karl Otto Lagerfeld was a German creative director, fashion designer, artist, photographer, and caricaturist who was born in London.

B. He was known to insist that no one knows his real birth date.
Options :

1. # A is correct and B is incorrect

2. ¥ A is incorrect and B is correct

3. # Both are incorrect.

4. % Both are correct.

Question Number : 78 Question Id : 9277596973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two assertions are given below (A & B) on the basis of your understanding of the passage, which one of the assertions is correct?

A. His claims of being born in 1938 to Elisabeth of Germany and Otto Ludwig Lagerfeldt from Sweden are false.

B. Karl Lagerfeld was known as the creative director of the French fashion house Fendi, a position he held from 1983 until his death.
Options :

1. ¥ A is correct and B is incorrect

2. % A isincorrect and B is correct

3. ¥ Both are incorrect.

4. % Both are correct.

Question Number : 79 Question Id : 9277596974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karl Lagerfeld was not recognized for which of the following?
Options :

1. * Fingerless gloves

2. ¥ Gold chains

3. % Detachable collars



4. # Signature white hair

Question Number : 80 Question Id : 9277596975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of 'eponymous' from the given passage?

Options :

1. ¥ One for whom or which something is or is believed to be named.
2. # Something that works on its own.

3. % Collaborate with another company

4. # Something that causes confusion.
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Question Number : 81 Question Id : 9277596976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR et § 9, 39 9t o1 I8 B Ol SX1ol Ueg b1 et f[dbed gl
Options :

1. % A |

2. % 1

3. % Qdt

4. Qe

Question Number : 81 Question Id : 9277596976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fadwed! & 9, 39 [9ded &1 997 &< ol 4TSl Xeg BT Jg! [aded gl
Options :

1. % O9E

2. % A

3. % Tl

4.« el

Question Number : 82 Question Id : 9277596977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy &, IR fawedl O 4, 39 faded &1 99 &< S DIgd T faU 7T Wsq & UR fa=Iw0r o Ug arell f[ddhed gl
R U (UTST ) WA AR e

Options :




1. % [Afgd demdares
2. ¢ URHAUETES

3. % 3 J=ATGRID
4. % IS

Question Number : 82 Question Id : 9277596977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed us H, IR fadedl # 9, 39 [ddhed BT 70 B Sl HIgD | U T st o AR IR0 o N arell fdbed gl
TR forg (UYST 9T) W AR 137 |

Options :

1. % Af¥q JemaEs
2. « GRHTUES

3. % YT GAEED
4. ® groHD

Question Number : 83 Question Id : 9277596978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed vy 8, 9R fawed! # 9, 39 fadbed &1 99+ &< Sl HIadTad 6311 ST g fdbed a1 5|
Options :

1. v gEg

2. % @t

3. % @

4. % fYFHR

Question Number : 83 Question Id : 9277596978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal A 9, 39 faweu &1 97 &8 St HIgdIs I3 &1 Ua! faseed 7l g1

Options :




1. ¥ gEg
2. % gEar
3. % 1
4. % fIFDR

Question Number : 84 Question Id : 9277596979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁaﬁr@au&rﬁ,wﬁﬂﬁ@r,ww fdhed &1 T8 o Sl QU 7T Weg & ot 31 &1 I fawey 81 B

Options :
1. % fag
2. ¥ dcy
3. % FET
4. % UG

Question Number : 84 Question Id : 9277596979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;%m@ﬁuaﬁ,wﬁmﬁﬁ,ww fhed BT T8 o1 ol QT U Weg & et 31 &1 I fawey 81 B

Options :
1. % fag
2. ¥ dcdy
3. % TN
4. ® URITd

Question Number : 85 Question Id : 9277596980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawed § 9, 39 fadmed &1 98 &1 off G e B el [dhed g



Options :

1. % gRIdINS
2. % ORARYS
3. % URAIRIS
4.« IR

Question Number : 85 Question Id : 9277596980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawent § 9, 39 fawey &1 7o &3 Sl Y e &1 Tl fAwea 71
Options :

1. % URIAIN®

2. % URAIRS

3. % RIS

4. UGN

Question Number : 86 Question Id : 9277596981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wwﬁ,wﬁm@fﬁ@r,waﬁﬁwaﬁrwﬁsﬁﬁuww_w$wa{zfaﬁrsﬁmﬁws‘n
Options :

1. % TdD-3oTdll

2. % GYHIEd

3. ¢ QHMI-3STa

4. % GHAH-d

Question Number : 86 Question Id : 9277596981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowedl & T, 39 UE! fawed &1 99+ &3 off 4T 1T Wea-JH & Tot oY &1 3frd fawed g1




We-4d

Options :

1. % HIJh-3oIcll
2. % qUHIgd

3. ¢ G-Il
4, % b dH-thdl

Question Number : 87 Question Id : 9277596982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad uy o, aR fowedl & T, 39 98! fawed &1 79+ &3 o Rad R & o7 Iugad Uss &1 el fdwe g |
T, FRIST 3R SRGTdT I W, AR Sa F WGP & REECIRY

Options :
1. ¢ g
2. % YR
3. % Hal
4. % R

Question Number : 87 Question Id : 9277596982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiRad oy &, IR fawedi 4 4, Wﬂﬁld@@ﬁd%&ﬁﬁﬁﬂﬂ@ﬂ?%ﬁﬂ@%%ﬁﬂﬁﬁw%l
AT, FRTEIT 3R ST S Ve, TR SaH & ey HEEIRY

Options :
1.« gl
2. % OR™X
3. % {al
4. % Y

Question Number : 88 Question Id : 9277596983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN 9190 & &1d &1 el [dwed ol
T = el B U fean g

Options :

1. % 3qul YddTa
2.9 A HYd bl
3. % iy Ydbrd

4. % YMH HdPId

Question Number : 88 Question Id : 9277596983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRed Uy H, IR fadwedl 7 ¥, 39 fdded &1 999 &3 o) faT TN 9190 & &1d &1 ol [deed gl |
7T 3 el &) o AT B

Options :

1. % 3qUf YT
2. ¢ AHF HYd bl
3. % iy Ydbld
4, % YMH HdpIdd

Question Number : 89 Question Id : 9277596984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadmed &1 9g &1 off fU T a1 & o 3 & N &1 ga o1 fawed g |
HHT ¢ TS HEH TR 1Y)

Options :

1. # faemdf
2. % dpard
3. % gagrd

4. GYTa1S



Question Number : 89 Question Id : 9277596984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, IR fawed § 4, 39 fadhed &1 98 &< off [T T8 a1 & o 3 & U &1 9a 33T fadhed ¢ |
TG § 3T HgHM &R 3|

Options :

1. % faemdf
2. % Fpard
3. % gagrd

4. ¢ JYTATY

Question Number : 90 Question Id : 9277596985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fdwed &1 999 &3 o1l ol d1ad He &I f[ddbed gl
T 3 U e & e wgl, afer 394 B a1 Tt |

Options :

1. % IR dqIHR

2. % fqyMars gt
3.« ggad i

4. % Oy a1

Question Number : 90 Question Id : 9277596985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRad uy H, IR fawedl & ¥, 39 fdeed &1 94 &3 &l Ta! a1 He &1 f[dwea gl
T 3 YU e & foIe g, afer 39 B a1 781 |

Options :

1. % IR aT

2. % fqymardas gt

3.« ggad die




4. % Ty 9y

Question Number : 91 Question Id : 9277596986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad uy & IR foweal °§ T, 39 ey &1 T &1 oY U U 9190 & I uel & Y o1 Jad 331 [Adbeu g
3§ % §H HIP! AT &1 I g

Options :

1. % gragided

R A UGIBIGED

3. # TATfQede

4. % IdRIde

Question Number : 91 Question Id : 9277596986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9hed &1 79 B3 Sl 3T 77T 919 & ol Uel & He o Jad 331 f[dheu 5|
3§ I gH HTH! WM &1 I &

Options :

1. % gAAdd

2. ¢ JUARIIAS®

3. % YATfaeds®

4. % FOdede®

Question Number : 92 Question Id : 9277596987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fawed &1 99+ &< SN faR14 foig god a1 &1 Aat faded gl |
Options :

1. ¢ HAAIIR g; Fo! F1 fa7 8; 3R firam,

2. % H IAAAR 8-Fe! BT e g-3MRH e




3. % HAINAAR § el Bl e g SR i
4. % HAIIAR §; Fo! BT 13 8; R firamm

Question Number : 92 Question Id : 9277596987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed! & 4, 39 fdeed &1 99+ o il fav1™ g god a1 &1 dal fadbed 3l
Options :

1. ¥ & AR §; GEI T 1A 7; SR fiyerm

2. % B IAGAR 5-Te! BT fa §-3RH e

3. % HAAIAR & YS! BT o o SR e

4. % HAAYIR g; ol F1 37 8; 3R fAramm?

Question Number : 93 Question Id : 9277596988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefed vy &, IR fasedl § Q, 39 fasey o1 997 B3 off f3U 1T dleife &1 98t ared aren fadbeu g |
TTd BT S ST, 311 7119 BT g -

Options :

1. % 3P gy T HH a1y

2. ¢ 30 RIF IR G ol gidl

3. % 3[qERATS! gl

4. % UM P o DI g i

Question Number : 93 Question Id : 9277596988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9, 39 [9aed &1 99+ &< off faU T4 didifad &1 98t 31 ara faswed g
TI1d BT ST ST, 311 7119 BT R -

Options :

1. % 34 gy T HH ATH




2. ¢ 30 I IR G el gidl
3. % 3QERATS gl
4. % UMY P o] DI g Tl

Question Number : 94 Question Id : 9277596989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%ﬁaﬁrﬁau&rﬁ,mﬁﬁﬁ@r,wi%wmqwﬁﬁhﬁﬂég@ﬁ%ﬁﬂﬁ&rﬁwﬁwél
Options :

1. ® GAGA

2. % fTd g

3. ¥ g DAl

4. % YA G WAl

Question Number : 94 Question Id : 9277596989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR faded! o 9, 39 [daed &1 99+ &< Sl &t T HeTR $1 Hal 3 arall fdded 3|
eI AT -

Options :

1% GRS

2. % ST g

3. ¥ g DAl

4. % DI A BRIG

Question Number : 95 Question Id : 9277596990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W%ﬁ,wﬁmﬁﬁ,wﬁwmaﬂqﬁﬁﬁaﬁﬂéwaﬁmﬁa{ﬁwﬁm%
dRe -



Options :

1. % FAg B

2. % 3 gHg A
3. % ¢Rgr e

4. ¢ IS 1H BT

Question Number : 95 Question Id : 9277596990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & aR fawed § 9, 39 fadme &1 Tg9 & ot &t 718 GeTak &1 Ja! 3 arar fadwed ]
Ul §IRE B -

Options :

1. % |eg g

2. % g JHY TGMT

Sub-Section Number : 2
Sub-Section Id : 927759329
Question Shuffling Allowed : Yes

Question Id : 9277596991 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

T fou M2 e o 91 5 Uy AU T B | 39 IR I eATYa e Ug SR dR fawedl § ¥ Udd Uy &1 9araH SR I |

T Y AN 3R URANDBD Gl DR & & U 51d 5] Ale Pls T 9 oitad | gul 361 ¢ dl HH 4 HH $© 0T & g 98 gl
&1 T B T8 S0 WIS Gl BT [AwERUl HR &dl o) HeTges! & SUGK Tgd Y id U™ HRd 5| g8 b JHT A foreT TRT
HRp YIS UTd Rl g T | i I8 aTal A Dl gl &I YT el J6dl 8] 98 30 fd &1 THerar 7, o gl &1 H1s BRI gl W
TEY T8 I e & UHTa F 8 o1 A BT § o 1 H e ot ifak g €Y o it B e el UehR o g T TR 6 el § 8iR
T & Tifd 9 T UgH HRdl g

Sub questions

Question Number : 96 Question Id : 9277596992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3TE & SIUR Tt HHadl J1 g 2
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3R & oY 9e <IBTaR o &1

2. TWRI & foTU E BTIR HR &

3. TRI3T & o 99 BTaR &R &1

4. 30 fIQ 9a SR B &

Question Number : 97 Question Id : 9277596993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIUHR T 70 fhen! o) et ol 87
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. A9 DI U

2. AHE B HIH

3. AF BIAR Y

4. Sl P HFI Y

Question Number : 98 Question Id : 9277596994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIYHR & fid e TURI B Tl B fHad! Ut HRdl /2

Note: For this question, discrepancy is found in question/answer. So,this




question 1s 1gnored for all candidates.
Options :

1. STEXt I 1

2. faamad &t

3. A 3 Bl

4. gfetlgE B

Question Number : 99 Question Id : 9277596995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S8 PIF-a1 R o1 fad Treg 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. HIaf

2. faor

3. Yallg

4. @

Question Number : 100 Question Id : 9277596996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3G B Hls IUYH Yub-

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. IR Sitq I

2. RUSR g1 Gt ATl &




3. WUDHR & 3h &Y

4. T 3R gRATS

Question Id : 9277596991 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

i fou 7 eI & 91 5 Uy fou A €1 39 Y ) ergde Ue 3R IR el H ¥ Udd U bl FarH IR I |

T I ANfhdh 3R TR Gl YR & GO UK 81d 5| TG Dls A 39 oiia- & gul gdl ¢ dl HH I HH $ 999 & a4 9§ T3
I G H I8 3 TGRS ! BT fARU R a1 3| HeTIRY! & IUS T T Tfd U™ HRd 8| 58 b JHY A a1 TRUT
TR R YT FHRlT 6| TG H ¢ g aTdl A% $I gl b1 Y a1 Xl 8] T8 30 fGd P! JHIdT §, o gul &1 Pig BRI & Ay
e} X§ STl TG 3 THTa & 9 o7 ArH BT & O w1 H &1 o) wifeky T € 31 STt B & it UebR @ gU{un bt 3T ) At § @R
7 &) Tifd I G UgH R o)

Sub questions

Question Number : 96 Question Id : 9277596992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31'15.\96( & STTIR Tl g HZIT% ?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3R & fOIE 99 =ABTER HR &1

2. IR & o0 9 =ABTaR HR Al

3. U1 & o 99 =NSTaR &R o1

4. 30 T 99 ISR B &l

Question Number : 97 Question Id : 9277596993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RITHR U 07 [ en! fhad e Hdl 82



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 99 DI U

2. /I &l G-I 9

3. A BRI

4. Sitq 1 HG A

Question Number : 98 Question Id : 9277596994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIYHR & Adiid afad gIRT ) TRl HR [T Uit BT 72

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ST& I B

2. fard &1

3. D 3N i

4. SEF A

Question Number : 99 Question Id : 9277596995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T q HH-I1 R 7 I e 8
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Hief



2. fafor
3. Yallg

4. Ty

Question Number : 100 Question Id : 9277596996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3(IC P Dlg IUGe L.
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1. a1 Siig 7™
2. WIUDR g T A1 &
3. RIUBR &b b Y
4. @Y iR gy

Disciplinel
Group Number : 6
Group Id : 927759254
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Disciplinel



Section Id : 927759277

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759330
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277596997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f be a function defined in [a, b] and is twice differentiable, then it is said to be concave upwards if:
Options :

| P'(x)=0 for all x€ [a,b]

, % f(x)=0forallx
3 » ['(x)<0forallx

4 & P(x)<0forallx

Question Number : 101 Question Id : 9277596997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg f, [a, b] H IreT v & 3T & 91X 3T §, O =¥ FUT T A’ 3T9d Fer AT ¢ I

Options :




o T XE [a,b] F T £1(x)>0
, « T x & v f(x)>0
, x B x &F fow f(x)<0

4« W x & T f(x)<0

Question Number : 102 Question Id : 9277596998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct for the function f{x)= x*>-3x2-9x-17?
Options :

1.« it has local maximum at -1 and local minimum at 3

o % it has local maximum at 3 and local minimum at -2
3 % it has local maximum at 3 but has no local minimum

4 % it neither has local maximum not local minimum

Question Number : 102 Question Id : 9277596998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=ff@a 7 ¥ FiF @ a7 f(x)= x3-3x%-9x-1 & T =wgr 272

Options :

| v FEE -1 W TET 3R § AR 3 W wm R §



, % FEE 3 W TET 3R ¥ 3K -2 | ruelw fRfEese 7
, » S8 3 W wEg 3 ¥ afa wr wey Aftase w5

, « FEH 7 a wEhT s § AR A & i Rt 7

Question Number : 103 Question Id : 9277596999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not included in general method to draw a algebraic curve for tracing ?
Options :

| % symmetry

, % lregion

3  Orthogonality

4 % tangent to the curve

Question Number : 103 Question Id : 9277596999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=ff@a 7 ¥ FiF @ 2fFe & v f57 g5 d=a & gaeg &7 #& afte a8 22

Options :

l'wmﬁ'



Question Number : 104 Question Id : 9277597000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When is a curve said to be symmetric about the pole or origin?
Options :

|« ifcurve doesn't change when r is replaced by -r

, % if curve changes when r is replaced by -r

3w Iif curve doesn't change when r is replaced by 2r

4 % if curve changes when r is replaced by 2r

Question Number : 104 Question Id : 9277597000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U& T W YT A AF g & aN H TATHS F& FHal AT g7

Options :

l'yuﬁ:rﬁ-raﬁmmﬂﬁﬁmmwﬁmaﬁm%




) % ﬁﬁm%ﬁrﬁ-rmmﬁmm?

; x T r F 2r F gATART FAT W IF FAr agAdT €

, » T r F 2r F giaenfa & W 3% g6 ST 8

Question Number : 105 Question Id : 9277597001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface area of a sphere of radius a is
Options :

1 % 4ma

2.« 4ma’
3.8 0
4. % -4ma’

Question Number : 105 Question Id : 9277597001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F=ar a & e &7 TSeT & % g

Options :
1. ® 41ma

R 4 4ma®



3 % 2

4 ® -4’1‘[32

Question Number : 106 Question Id : 9277597002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the fluid (F) is incompressible then which of following condition holds ?
Options :

1. % F=0

) div(F)=0
3 % div(F) is non zero

4 % scalar product vanishes

Question Number : 106 Question Id : 9277597002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 29 (F) HE9=T giar ¢ o eed & ¥ +i9 o e aror F@r 22
Options :
1. ® F=0

, » div(F)=0



, w div(F) R g

, » AT 3e9g FATT & AT @

Question Number : 107 Question Id : 9277597003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A = 2i+j+k B=4i+j-k find AB ?
Options :

1.& 8

2.% 9
3 % 10
4 % 11

Question Number : 107 Question Id : 9277597003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg A = 2i+j+k B=4i+j-k ar A.B AT FI7?
Options :
¢ 8

% 9

3 % 10



4. % 11

Question Number : 108 Question Id : 9277597004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What condition holds for perpendicularity of 2 vectors?
Options :

| their dot product is zero

» % their cross product is zero
; w the vectors are equal

4 % one of the two vectors is zero

Question Number : 108 Question Id : 9277597004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fgelt Fr swaqar & e Far g 27

Options :

| T g 3 o

|y 3T PIE IUEES LA E

s » HiY TF FA ¢



L x O TR AW TR

Question Number : 109 Question Id : 9277597005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph of a quadratic equation y=ax*+bx+c is a parabola. when it will be upwards and downwards curve?
Options :

| itwill be open upwards if a>0 and downwards if a<0

» % itwill never be open downwards
3 % it will be open upwards if a<0 and downwards if a0

4 % it will never be open upwards

Question Number : 109 Question Id : 9277597005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ciaeTa FHIRIUT y=ax?+bx+c F Hol@ TWIold g, S Ig FI H AT AR = F 307 T gem?

Options :

o TE 3 & AR Rge @em 1 2>0 A Ay & 3R grem Al a<o

, x TE AT B AR Flr o Faga T grem

- IE a<0 § af T8 FW & R Fgeq gem 3k afg a>0 g &= & AR Agea gem



, » T8 F& ol I A 3R fagea w@ g

Question Number : 110 Question Id : 9277597006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The points a.b.c.d, taken in that order, in the complex plane are the vertices of a parallelogram if ?
Options :

| #® atb=c+d

7 « atc=b+d
3 # atb=b-c

4 % a-b=b-c

Question Number : 110 Question Id : 9277597006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BERS FAGE &, 38 $4 A fow v g abed AR IggT F v g Ay 2
Options :

| % a+b=c+d

7« a+c=b+d
3 % at+b=b+c

4. % a-b=b-c



Question Number : 111 Question Id : 9277597007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If |A|=4 , find the number of partitions of A 7
Options :

1. % 10

2.« 15

Question Number : 111 Question Id : 9277597007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afT |Al= 4, aF A & st & & A9 F: 7
Options :
% 10

2.« 15
s % 20

, % 25

Question Number : 112 Question Id : 9277597008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Find the number of anti symmetric relations on set A having 2 elements?
Options :

1. % 10

2. 12
3 % 14

4 % 16

Question Number : 112 Question Id : 9277597008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 Tedl JTe TH=ag A X Al wefag gt & g'mr Ja w12

Options :
1 = 10

2. v 12

3 = 14

4. % 16

Question Number : 113 Question Id : 9277597009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The inverse of 3 modulo 7 is ?



Options :

1. % -1
2.¢ -2
3. % -3
4. % -4

Question Number : 113 Question Id : 9277597009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 ATgalr 7 & e g7
Options :
1w -1
2. -2
3 % -3
4% -4

Question Number : 114 Question Id : 9277597010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Euler function is:

Options :

| % one one



) % onto
3 « neither one one nor onto

4. % onto but not one one

Question Number : 114 Question Id : 9277597010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTOeR FoleT ¢

Options :

[ % Uesh Teh (one one)

o7 (onto)

2. %

v TarTHoE AT A é’r 7 (neither one one nor onto)

Lx K WIféhe Tk T AGr & (onto but not one one)

Question Number : 115 Question Id : 9277597011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The congruence relation ax=b(mod m) has a unique solution if ?
Options :

L gcd(a,m)=1



» % gcd(a.m) is any prime number
3 % ged(am)=m

4 % gcd(a.m) is any non zero number

Question Number : 115 Question Id : 9277597011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TERTHACT T ax=b(mod m) & HI3T & g T1g ?
Options :

|« gcd(a,m)=1

, % ged(a,m) g o He=T HEAT §

3 % gced(a,m)=m

, » gcd(@m) FIg off TR TEAT &

Question Number : 116 Question Id : 9277597012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A be an n*m matrix with each entry equal to +1, -1 or 0 such that every column has exactly one +1 and exactly one
-1 then what can u say about rank of the matrix?

Options :
1.« rankA<=n-1



7 % rankA=m
3 % rank(A)=n=m

4 % lank(A)=n-1,

Question Number : 116 Question Id : 9277597012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT o & A, nxm 3R & oEdr gcds gRffe +1, -1 a1 0 & SR g, 39 IR & 93% A A
8 TH +1 ’R B UF -1 §, I HIT HeTg F F F I F FAT Fg T 87

Options :

|« rankA<=n-1

> % rankA=m
5 % rank(A)=n<m

4 % rank(A)=n-1,

Question Number : 117 Question Id : 9277597013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To reduce the matrix to row echleon form the leading entry of each row must be?
Options :

1.¢ 1



2. % -1

Question Number : 117 Question Id : 9277597013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTegg & U A (TI) T H FF 3 & [0 Jodes U Hr e gfafee g=r anfege?

Options :
1. v 1

2. % -1

Question Number : 118 Question Id : 9277597014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the set in which supremum of set is equal to infimum of the set?
Options :



w
B
—_

[
%]

4 % empty

Question Number : 118 Question Id : 9277597014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30 A=Y A T F SHH =T 5 GRAA TH=T ¥ SA0AA & el 87

Options :
1 {a}

, « {a.b)
3. % {-1 -'2:3}

4.%:3@?51'

Question Number : 119 Question Id : 9277597015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A real number sequence <f n> is said to be oscillating finitely if?
Options :

1. % it is not bounded

, w It is not convergent

3 % it is not divergent



4  itis not bounded: it is not convergent: it is not divergent

Question Number : 119 Question Id : 9277597015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U AEAEF HEA HJFA <f_n> I Areed TRIAd Pl AT § Ae?

Options :

|« TE 9@ A8 8

, » TE AW (Feasiee) FE €
3 % T AHIET LT &

, v T8 IREE 7 ¥, 7 HEER (Feaeiee) A& §, TE IOW AET §

Question Number : 120 Question Id : 9277597016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which theorem states that "Every bounded sequence has at least a limit point"?
Options :

| % Initial value problem

> % Sandwich theorem

3« Bolzano weierstrass theorem



4 % Representation theorem

Question Number : 120 Question Id : 9277597016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frw w7 7 wgr o B & "vde 9itEe #gFA # FA ¥ FH oF WA g g7

Options :

|y SIS oY Sead

) » HEET gHT

'\.l o Y

3 o el AT IdiEcld He
, x SRR s
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Discipline2

Section Id : 927759278
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759331
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277597017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let Ais asubset of R and £ A to R is given by f(x)=x?, then f is uniformly continuous if ?
Options :

1« Als bounded subset of R

> % Als dense subset of R
3 % A isunbounded

A is open

Question Number : 121 Question Id : 9277597017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A o & A, R & 3987==7 g 3R fA ¥ R, f(x)=x* gar fear amm 8, aF f A &9 & fRer & afe
?
Options :

IJA,Ra:rqﬁaang; g

, x A R & FEa 398D 3

; x A IREE ¥

,x ARTTE

Question Number : 122 Question Id : 9277597018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pick the true statement

Options :
| Every convergent sequence is cauchy sequence
, % every convergent sequence is not bounded

;3 % No Cauchy sequence is convergent

4 % series always converges to a finite number

Question Number : 122 Question Id : 9277597018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T FUF & TTA FL
Options :

v Tk HIFAR (Feawtec) HJHH Hiell HTHA 8

- Tedeh HIFARY (Fedetec) HJHH TNEE FaT ¢
| P15 R0 TR HEE (Feaeiee) FE §

4« A0 FAM TH IRHT FEw 7 HEERT g g

Question Number : 123 Question Id : 9277597019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the limit point of the sequence <1+1/n=?
Options :

1.¢ 1

2. % -1

Question Number : 123 Question Id : 9277597019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3THA <1+1/n> & BHH AT H?
Options :
1. ¢ 1

2. % -1
3 % 0

4.% 2

Question Number : 124 Question Id : 9277597020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The infinite series -1-3-5-7...... diverges to?
Options :

| % infinity

,  Degative of infinity
3 % Zero
4. % one

Question Number : 124 Question Id : 9277597020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T @ -1-3-5-7...... F FFea g 82

Options :



Lw&ﬁ-i?—l'

, v HAd F HUNHS
A
By

4 % Ueh

Question Number : 125 Question Id : 9277597021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The infinite series » cos (1/n) where n goes from 1 to infinity is?
Options :

| % convergent

,  divergent
5 w oscillates finitely

4 % finite

Question Number : 125 Question Id : 9277597021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAT e Ycos (1/n) @l n, 1 F AT T AT g2
Options :

|« HEFEE (FeEse)




2_./3-1'511'41ﬂ

, « IRAT T F AT T €

4 % IRFAT

Question Number : 126 Question Id : 9277597022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many scientists use mathematical model to convert data into ?
Options :

| % system

7 « model

; w passage

4 % raw form

Question Number : 126 Question Id : 9277597022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F5 dAH 3T H _ H Scoledl & ToIT IUIET ATSeT &7 3T4ET {87
Options :

| % OIS




) HISel

3 % SO

4 % eh=dl ®Y

Question Number : 127 Question Id : 9277597023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will we do to make the given differential equation exact?
Options :

| % Wwedivide it by its derivatives

»  We multiply it with integrating factor
3 % Wwe bipolarate the same

4 % We do integration on both sides

Question Number : 127 Question Id : 9277597023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT 71T 319 THOT FF TEF T4 & T g7 #47 FE7

Options :

| x BF SH THF oo § HIT F §



, o o S HHATRAA FNF (Fecaiedl HaFed) W 0T Fd ¢

| « &7 T & gyl (agene) @ €

, » EF A Tall W whERr (seedee) R §

Question Number : 128 Question Id : 9277597024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Logistic growth equation is given by?
Options :

| IN((K-N)'K)

» % INK
3 % IN(K-N)

4. ® IN/(k(k-N))

Question Number : 128 Question Id : 9277597024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfatEes Ty FHEEoT Fas garr G e 22
Options :
| » IN((K-N)/K)




5 = NKK
s % IN(K-N)

4w MN/(k(k-N))

Question Number : 129 Question Id : 9277597025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Change in number of individuals in population over a period of time is called
Options :

| bopulation growth

» % sigmoid growth
3 w logistic growth

4 % exponential growth

Question Number : 129 Question Id : 9277597025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Fr H9T § FAUEA # aiFaar Fr g J 9igaaT ET AT §
Options :

| o TEEd i



)« oSS R
3 % TS TETF Ty

, w TREEERE IR

Question Number : 130 Question Id : 9277597026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The solution of the initial value problem xy'-y=0 with y(1)= 1 is?
Options :

v=1/(2x-1)

Question Number : 130 Question Id : 9277597026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
y(1)= 1 & @y sl Seg Seas xy'-y=0 & TATIA ¢ ?

Options :
1w ¥7X




, w Y=1/x
3 % y=2x-1

4w YEU(2x-1)

Question Number : 131 Question Id : 9277597027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All non trivial solutions of x2y"+xy'+4xy are?
Options :

| = bounded and periodic

»  bounded and non periodic

3 % unbounded

4 % periodic

Question Number : 131 Question Id : 9277597027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X2y"xy'+dxy & Tt A e o 27
Options :

1. ® ufEe 3R s



Question Number : 132 Question Id : 9277597028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(B(x.y) symmetric group of order n) is a closed subspace of (B(X.y) group of order n) for what value of n?
Options :

| 1 greater than or equal to 2

, % fornequaltoone
5 w fornhaving zero value

4 % for infinite n

Question Number : 132 Question Id : 9277597028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(B(x,y) &H n & FAHAT THg) n & FF AT & T (B(x,y) FH n & THE) H Tgcd TaEIH 87
Options :

| v N, 2 ¥ T3 A 58S aUK ¢



, % N, TP & & & AT

T AT I n &+ T
3. F ™,

4 % g n & e

Question Number : 133 Question Id : 9277597029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifg =@t p>0 Hisg & J # Ty RAfasAsest u gys & 3k S # u % T gar 9w 87
Options :
v Ju=IW)

5w J(U)>J(v)
3w J(u) HET E

4w Jv) THT

Question Number : 133 Question Id : 9277597029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Local minimizer u of J is isolated if there exists p>0 and for u in S we have?
Options :

| v J)=I)



5 % J)=I(V)

3 % J(u) is possible

4 % J(v)is possible

Question Number : 134 Question Id : 9277597030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the limit of the function fin)= 1/n where n approaches infinity
Options :

1.« 0

Question Number : 134 Question Id : 9277597030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wd f(n)= 1/n FT TAT AT F{ g7 n 99 dF gl 3

Options :
.v 0

I



Question Number : 135 Question Id : 9277597031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which rule is used to calculate limits when the function reaches to indeterminate forms?
Options :

|« L'Hospital's rule

> % Cinco rule
3 % CandD rule

4 % Leibnitz rule

Question Number : 135 Question Id : 9277597031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁmaﬁﬁmmﬁﬁam%?ﬁm#mm#ﬁmmﬁwmmmm%?
Options :

| v L ‘Tieacer & FaH
o ® e Fas

; » C 3R D ==



4 % e A

Question Number : 136 Question Id : 9277597032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If L be a limit point of the sequence <A> then there exists a subsequence <B> of the sequence <A> which converges to?
Options :

1.« L

7 % 2L
3. % 3L
4 % 4L

Question Number : 136 Question Id : 9277597032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I L HJFHA &1 <A> HATS § a1 JJHA <A> & 39GFA <B> Algg § 3 & arferawor swar 22

Options :
v L

) % 2L
3 ® 3L

4 % 4L



Question Number : 137 Question Id : 9277597033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A={z€C : |z/=1} B = {z€C:z is not equal to 0} then which is the false statement?
Options :

1. % there is a continuous onto function f:A-->B

o # there is a continuous function one to one function f:B-->A

3  there is a non constant Analytic function from £:B--=A

4 % there is a non constant Analytic function fLA-->B

Question Number : 137 Question Id : 9277597033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT o 5 A={zEC : |z>1} B = {zEC:z 0 % =&Y &l &} af Fid AT FUT HTT g7
Options :

|« B FA->B W Had Aeoled §

, « U ¥ T& Gad & fav TRaX wee fB—->A
s v fB->A & N TR 393 wore §

4 % Ueb T T 29 weT fA->B &



Question Number : 138 Question Id : 9277597034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what value of k does the function f{X.,v)= 3xy: where (X.y)is not equal to(2,3) and k whenever (x.y)=(2.3)?
Options :

1. % 6

3.« 18

4 % 12

Question Number : 138 Question Id : 9277597034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

k &% 59 A9 F BT waa f(x,y)= 3xy; F&T (x.y) (2,3) 3t k F sT6T
er & 519 o (x,)=(2,3)?

Options :
| % 6
) % 8

3« 18

4. % 12



Question Number : 139 Question Id : 9277597035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Function f(x.y) is said to be continuous at (a.b) whenever |f(x.v)-f(a.b)|<€ if?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
) Ix-al<delta

5 ly-b|<delta
-bl<delta both follow.
3 Y

4. ho such function exists

Question Number : 139 Question Id : 9277597035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EeleT f(x,y) & (a,b) 9T AT Far Fam & I &7 [f(x.y)-f(a,b)|<€ TE?
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1 |x-a|<Z=aT

) ly-bl<&wzr



, Ix-al<delta and |y-b|<delta IAT 3]ER0T I 8

, T IS o A 78

Question Number : 140 Question Id : 9277597036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the limit of function f(X.y)=x+2y as(X.y)--=(1.2) ?
Options :

1% 2

Question Number : 140 Question Id : 9277597036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WeleT f(X,y)=x+2y SAET(x,y)->(1,2) Fr EAT A FL2
Options :
L% 2

)% 3

3 % 4
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Question Number : 141 Question Id : 9277597037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The domain of cos(x)is 7

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. [0-1]

2. [-1,0]
3. [LA]

. [12)

Question Number : 141 Question Id : 9277597037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cos(x) T FHATTET g7

Note: For this question, discrepancy 1s found in question/answer. So,this
question is 1gnored for all candidates.

Options :

1, [0:1]

2. EA0

3, kel



4 1.2

Question Number : 142 Question Id : 9277597038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The necessary and sufficient condition for Taylor's theorem is that ?
Options :

1. ® {fis not differentiable

> % {fis continuous
3 % fshould exist
4 f has higher derivatives

Question Number : 142 Question Id : 9277597038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o YHT & forw s R uacg g g & 2
Options :

| w f 3EFoAT AL 8

, x fEATE

. f e g =R



, v [ & 3T 3aFas &

Question Number : 143 Question Id : 9277597039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following function contains odd terms in the expansion of Taylor's series?
Options :

| v SInCe)

) ® sin(x2)
3 % C€OS(X?)

4 % COS(X?)

Question Number : 143 Question Id : 9277597039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TERETF 3 0 ad & eoX 9o & T # fvHy 95 22

Options :

| Sin(A)

5 % Sin(¢)

;% Cos(X®)



4 % €os(x)

Question Number : 144 Question Id : 9277597040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of f(x, y)=8x+5y-7 at (x,y) =(1,2)
Options :

1. v 11

r #® 12
3 #% 13
4 % 14

Question Number : 144 Question Id : 9277597040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(x.y) =(1,2) 9T f(x, y)=8x+5y-7 & AT AT 1
Options :

1L« 11
) % 12
3 % 13

4 % 14



Question Number : 145 Question Id : 9277597041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If R is the position vector, then divR is equal to
Options :

1 ® 1

I-d

Question Number : 145 Question Id : 9277597041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofg R foufa afger &, &t divR e & TR &
Options :
1% 1

Question Number : 146 Question Id : 9277597042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If p and q are positive numbers and p*+g>=1 then maximum value of p+q is?
Options :

v \2
2. % V3

5 % Infinity

4 % 14

Question Number : 146 Question Id : 9277597042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g p 3R q uaeHAF FETC § 3R pP+qi=1 § a1 p+q F 3waw AT T?
Options :
1.4 ‘\.'I2

2. % \3
3 % Had

4 % 14

Question Number : 147 Question Id : 9277597043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Evaluate the double integral xsin(x+v)dxdy over R =[0.m:0,m/2] ?
Options :
1 ® W2

2. M2

4. % -2W

Question Number : 147 Question Id : 9277597043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R =[0,m;0,n/2] 9X Efarer: HATHReI xsin(x+y)dxdy & HedTehel &< ?
Options :

| % T+2

2. T2
3 & 21T

4. % -2T[

Question Number : 148 Question Id : 9277597044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The area bounded by the curve y=2vx.y=-x.x=1 and x=4 is given by ?
Options :



Question Number : 148 Question Id : 9277597044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IF y=2\x,y=-xx=1 3T x=4 ¥ =g a=wa Fas IR o a7 872
Options :

1. % 25

, % (1/56)

5w (112)

. v 101/6

Question Number : 149 Question Id : 9277597045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line integrals can be converted to surface integral using ------- in multiple connected domain?
Options :

1.+ Green's theorem



> % Baire's Sandwich theorem

3 % Riemann equation

4 % Sandwich theorem

Question Number : 149 Question Id : 9277597045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGN WA F THUF J3 U THEET (HedTe FAses Ha) H —omomee T ITATT TR T

HATGAT H goeoll ST Hehdl %‘7
Options :

1‘\-/?f|?|";|?5t11

0. ® TR Jsfow 9o
3 % AT FHEHIOT

4. % oo vy

Question Number : 150 Question Id : 9277597046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Green's theorem is used to ?
Options :

|« solve 2-D flow equation



, % bipolarate the same:
5 % volume of plane figures

4 % parameter of plane figures

Question Number : 150 Question Id : 9277597046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TRT &7 g AT AT g 2

Options :

| v 2-D 9aTg HHIHIOT H goT HL]

. TF & & EEaYdT (SEdeRe) HaT ¢

2.

, x THECE I FT AT

4 % THIS TSI T qr=rel

Question Number : 151 Question Id : 9277597047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The divergence of a vector field A is always equal to zero if the vector field A can be expressed as ?
Options :

| % gradient of any scalar field



, w divergence of any scalar field: Is this option a direct eliminator? Better change it
5 w the divergence of vector field

4  the curl of any vector field

Question Number : 151 Question Id : 9277597047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tfeer &7 A 1 F=ed g3 T & WET gdT ¢ I1E Afeer 8T A & $H & H =hed HaT I Tehdl
82

Options :

- forlr oft arfeer &= &1 sregwaoT

o w TeRET o7 feRr & F el #4778 FHehed Joael e g7 SU TS 9gaT &
3 % G &7 F1 REes

4 o foedr ofr |feer & &1 Fer

Question Number : 152 Question Id : 9277597048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A function is said to be Riemann integrable of over [a.b] s.t.any number L lying between L(f.P) and U({,P) s.t. for €=0
5
Options :



® .U{ P._f}—]_ .'.'-hE
) ® IL-L(£.P)[~€
3. |U(EP)-L|<€ and [L-L(£P)|<€

4 % contractive

Question Number : 152 Question Id : 9277597048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Feled 1 HIET [a,b] s.t. F1 THAT FATFIAT Far T g1 €20 s.t. & e L(¢F,P) 3T UFP) st &
§ g s srgear L 22

Options :
= [UP.H-L>€

, = |L-L(f,P)[>€
; v IUEP)-L|<€ 3T |L-L(f,P)|<€

4. % TRIET

Question Number : 153 Question Id : 9277597049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Function f:[a.b]-->R .P and Q are partition of [a.b] s.t. P is contained in Q then ?
Options :



v LEP)<=L(£Q)
, » LIEP)=U(LQ)
3 % one is true other is false

4. % both never hold

Question Number : 153 Question Id : 9277597049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wer f:[a.b]-->R P 3T Q, [a,b] st. & Rere &1 P Q & mafea & ar:

Options :
1. & L{f:P}‘:zL(f-Q}

L(f,P)>=U(f,Q)

2. %

, x TP T & TE HAT €

4 « Gt el 9ReT JE

Question Number : 154 Question Id : 9277597050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which case improper integral becomes equal to Riemann integrable?
Options :



|« asaspecial case of Lebesgue integral
, % hever possible

3 % sometimes differentiable

4. % 0CCurs somehow

Question Number : 154 Question Id : 9277597050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e e 7 e aamres, dFe TReee & ST & ST 87

Options :

| v ©8 THETROA & U 9w R F w A

, « HET THS @
3 % HH-FH HToHAT

4 x [ohdl RE BT &

Question Number : 155 Question Id : 9277597051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pick the wrong statement?

Options :

| = Improper integral of 2nd kind has discontinuity at upper limit



» % Improper integral of 2nd kind has discontinuity at lower limit
3 % Discontinuity occurs at both upper and lower limits of the function

4 discontinuity always occurs at upper limit

Question Number : 155 Question Id : 9277597051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT FUT FT TTT FL?
Options :

- ETW#H@%&HHHMMﬁ H 3= WAT 9T ¥OIT 2 dr §

- 2Y 9FR F 3T TAReA H e €A 9T awaey @

3 x Bord & IO AR fAwel e @At T e g g

4 v FEHCT EHAT 3TF AT W €

Question Number : 156 Question Id : 9277597052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the interior of {1,2,3.4,1?
Options :

| empty



Question Number : 156 Question Id : 9277597052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{1,2,3,4,}) &1 HEF AT HL7

Options :

| v el
, » {1}
3 % {2}

4 % 13}

Question Number : 157 Question Id : 9277597053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The set of limit points of a sequence is:
Options :

| % open set



7 « closed set

3 % both open and closed

4 % Deither open nor closed

Question Number : 157 Question Id : 9277597053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UF HJHH & UHAF F =T ¢
Options :

L% B de":-ﬂil

) g HedwEd

3« 9T AR Fed gt

4 ox 78 Tagd AR T & Fe

Question Number : 158 Question Id : 9277597054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The limit points of <1,0,2,1,0,2,1,0,2....>7 Is/are:

Options :
| = lonly



, % Oonly

3 % 2only

4. ‘-.-'/ J.-.D-.j

Question Number : 158 Question Id : 9277597054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1,02,1,0,2,1,0,2..>? & dHAF §

Options :

1'33%?1
) #® $ael 0
3 % Shael 2

4 v 1,0,2

Question Number : 159 Question Id : 9277597055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find radius of convergence of > n=0 (x—7)"((n+1)/n"n).?
Options :

1. % 0



4 nfinity

Question Number : 159 Question Id : 9277597055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

©¥n=0 (x=7)*((n+1)/n"n) F HfAFIOT =TT AT FI
Options :
.# 0

7 &% 1
3 % 2

4.%/3'1?3

Question Number : 160 Question Id : 9277597056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the function to be Riemann integrable what will be the condition in terms of affecting the power series?
Options :

|« lower integral is same as upper integral

, % lower integral does not exist

3 % Upper integral does not exist



4 % lower integral is less then upper integral

Question Number : 160 Question Id : 9277597056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gaeeaT g9 & T voa & T, ag Aol & gfag Fa Fr gr # 2 By gefre?

Options :

| v @ sAee 3= §AeA & §AA &

- et FATeS AlGE 78l 8

3ed WHhA HAlSG 8 &

3. %

i
, w (A5 HATROA 3o FAGAA H HH ¢
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Discipline4

Section Id : 927759280
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Question Number : 161 Question Id : 9277597057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metric space X is said to be complete if

Options :

| ifevery Cauchy sequence in X converges in X
, % if Cauchy sequence in X is not convergent

;. w If every convergent sequence in it is bounded

4 = ifevery Cauchy sequence in X has more than 2 convergent subsequences

Question Number : 161 Question Id : 9277597057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TF AfeH THE X FT IUT Fg A g T
Options :

lwﬂﬁ;xaﬁ'maﬁ%ﬁ'wXﬁm{mrdé} T &

- afE X 7 el sgwn 7 (Feasiee) 766 8

. I suH 9w F#AE (Feaeiee) WgEA IREE 7

3.

L x T X F o Fll agEE 7 2 F AU S (Feastee) TR 7

Question Number : 162 Question Id : 9277597058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The symmetric property in a metric space is
Options :

| = dxy)=0

0 # d(x.y)=0
;% dxy)<0
4 v AXYFd(yx)

Question Number : 162 Question Id : 9277597058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
v Afgew TH H TAAT 0T §
Options :

|« dxy)>0

d(x,y)=0

2. %

3w d(xy)<0

4 v dixy)=d(y.x)

Question Number : 163 Question Id : 9277597059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Continuous function C[a,b] from a to b is called
Options :

1« bounded function

> % not bounded
3 % cyclic

4 % not defined

Question Number : 163 Question Id : 9277597059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a ¥ b 9% Tdd Felel Cla,b] F &gl T &
Options :

| v IEE wer
, g
3% THI

, w SRR FE

Question Number : 164 Question Id : 9277597060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metric space defined by {d(x.y)=r for all x,y€ R} is called as
Options :

| % openball

»  Sphere
3. % s€l

4 % algebra

Question Number : 164 Question Id : 9277597060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



{d(x,y)=r for all x,y€ R} g=rr afenia aAfes W9 Fr Far 511 #-

Options :

faga @it (H9= aie)

1. %

). v T

Question Number : 165 Question Id : 9277597061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A linear operator define by T in metric space is said to be bounded iff?
Options :

| % I T(x)| exists

) ITEl<klix]
3 % L(x)Is positive

4 % [L(X)is negative

Question Number : 165 Question Id : 9277597061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A BF A T @Err ofenRa YR @R & aiEa Far Jar § al?

Options :

| x TN AT &
5 v ITOII<k][x]]
s % T(X) OolcH® §

4 % T(X) HOTeR §

Question Number : 166 Question Id : 9277597062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let A be a subset of R. which of the following properties imply A is compact?
Options :

|« Every continuous function f from A to R is bounded

, % Every sequence {X; in A has no convergent subsequence converging to a point in A

5 % there exists a continuous function from A onto [0,1]

4 % there is no one one and continuous function from A onto (0,1)

Question Number : 166 Question Id : 9277597062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A o 6 A, R & 39009 (F98e) g1 Heataiad # & &I & 707 gaffar ¢ & A §u= 27

Options :
| v A ¥ R TF 9c3% Fdd Bo f ORE< &

A H Sels HIHA {x} T B5 FEFAR (Feasiee) TROTH 781 ¢ 5 A 7 g o #fEard gar g

2. %

. x AW [0,1] T Tad Foid AT &

, x AT (0,1) T FS T &l g 3R T BorT T g

Question Number : 167 Question Id : 9277597063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For any two subsets X and Y let X+Y = { x+v:x€X , v€Y | then find the wrong one?
Options :

| = ifXandY are open sets then X+Y is open

7 « If X and Y are closed then X+Y is closed

3 % ifXandY are compact then XY is compact

4 » ifXisclosedY is compact then X+Y is closed

Question Number : 167 Question Id : 9277597063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gl aF saHa==T (Fa8e) X 3R Y & /v A o &F X+Y = { x+y:x€X , yeY} A Ted A1 HL?
Options :

- ofg X AR Y Rga gg==g € a X+Y Rga g

, o TEXATY W & F X+Y TF &
s x AEXIRYFEAE A X+ Y O ©

,x TEX AT EANY FIA A X + Y Heed €

Question Number : 168 Question Id : 9277597064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number of onto homomorphism from Klein's group to Symmetric group of order 47
Options :

1% 1

4 « does not exist

Question Number : 168 Question Id : 9277597064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FoST & TAE ¥ FH 4 & AT WA T% HIg (onto) BHANGAT HT TEAT?

Options :
1% 1

oo TR AEE

Question Number : 169 Question Id : 9277597065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let K be a group with 8 elements. Let H be a subgroup of K and H<K. It is known that the size of H is at least 3. The
size of H is?
Options :
1% 1

Question Number : 169 Question Id : 9277597065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A AT K v g ¢ owd 8 tfedie 81 a9 & & H, K 3R HeK & 39095 &1 78 19 & f& H
F HER gadH 3 g1 H & 7R g2
Options :

1% 1

% 2

Question Number : 170 Question Id : 9277597066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The external direct product of two groups is abelian if and only if?
Options :

| % one is abelian

» % other is abelian - What option is this? Is this not included in the previous option itself?

3 « both are abelian

4 % Dboth are not abelian - do you mean None is abelian - if so. better change it like that

Question Number : 170 Question Id : 9277597066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ar WIEET FT AEY T 3c91E Hafoae g Afg AR dhaw Ife?

Options :
| w T el §

, « 3T AT ¢ - TE i & Reed 22 Fr 97 Fod ReeT 7 & afda a8 22

s v e sEfere g

4. %
AT 3T AT g - NI Fgd Al g F Fe M 3pua 7@ g - I 0 g, ST s¥ SgaT &
T ggar

Question Number : 171 Question Id : 9277597067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which property does not hold as a binary operation in groups?
Options :

1. % addition

, % multiplication

3 « subtraction

4 % Matrix multiplication

Question Number : 171 Question Id : 9277597067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
it AT 0T FHEI H SFIT HHAT & & H F¢ 2 g2

Options :
23-5 e
3. ¢ HelT

Question Number : 172 Question Id : 9277597068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is known as multiplicative identity of group with respect to external binary operation?
Options :

1. % 0

2. ¢ 1
3 % Q

4.% R

Question Number : 172 Question Id : 9277597068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fora sl qEararlr BT & Ty # 9Hg H qUECHF TS F F H G ST 27
Options :
1 % 0

2. ¢ 1
3 % Q
4.% R

Question Number : 173 Question Id : 9277597069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the wrong statement

Options :

| = Every element generates a cyclic subgroup of its own order

, % asubgroup of a cyclic group is cyclic
5 w every non abelian group has abelian subgroup

4  Klein's group is not abelian

Question Number : 173 Question Id : 9277597069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT FUF F TIT B



Options :

| % Siw Tfode 3T HH FT Tk ThIT ITTAE 3o HT g

, x T WA F ITAIE T A €

s g% 3 T woag # 3efes suwag g

, » TS WA AR A6 ¢

Question Number : 174 Question Id : 9277597070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set G with one binary operation which is closed as well as associative is called?
Options :

1. % monoid

, % groupoid
3  Semigroup
4 % group

Question Number : 174 Question Id : 9277597070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ZEATUN HiHAT & WY TH TH==d G 3 Hcd g1 & WII-HT Fgarn off 8, 38 &gl S1ar g2




Options :

Question Number : 175 Question Id : 9277597071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many subgroups(p) of non cyclic groups G is possible?
Options :

1 = P

Question Number : 175 Question Id : 9277597071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R TET Tl G F fas 3TTAE (p) THF §?




Options :
| % P

) v P
3 ® p+2

4 % P*3

Question Number : 176 Question Id : 9277597072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are maximal subgroups of Klein's group?

Options :
1 ® 1€,8}
, % 1e.b]
3 ® 1€.C}

4 leag.iebi. {ec]

Question Number : 176 Question Id : 9277597072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FASA THE & HUham 3THHE FT 872
Options :



1. % {E,EI}
, « {e.b)
3. % {E_.C}

4 v {e.a}h{eb}{ec}

Question Number : 177 Question Id : 9277597073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what values of z the function defined by the equation z=sinhu.cosv-isinhu.sinv ; w=u+iv ceases to be analytic?
Options :

1. % 0

Question Number : 177 Question Id : 9277597073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z & o @A & BT, FHAFUT z=sinhu.cosv+isinhu.sinv; w=u+iv Zar 9T Hoa fSeevoneas

2T AT FT T 87
Options :




Question Number : 178 Question Id : 9277597074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f{z)= u+iv is an analytic function in domain D then?
Options :

1. % uand v intersect each other

»  uand v form orthogonal family

;3 % Uuand v bipolarate each other

4 % uandvare parallel

Question Number : 178 Question Id : 9277597074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I f(z)= u+iv FHEET D H R0WUTcA® FoleT g ar?

Options :

| x U HR v T g W diaese #d #




5 o U AR v e (3efEee) afEr sara §
L U ARV TF g H YT =T

, % U AR v AR &

Question Number : 179 Question Id : 9277597075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Integrate 1/(z>-1)*, the counter clockwise around the circle |z-1/=17
Options :

1 ® 2mi

9 ® 4mi
3 % -2mi/9

4« -4m/9

Question Number : 179 Question Id : 9277597075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR w 1/(2>-1)%, 3o |z-1|=1 & IRT 3T THEq?

Options :

1. # 21



2. 41TI
3 % -2mil9

4 v -4mil9

Question Number : 180 Question Id : 9277597076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the domain of the function defined by f{z)=z/(z+z') where z' denotes complex conjugate of z?
Options :

| % re(z)=0

» » Im(z)=0
3 v I&(z)is not equal to 0

4 % Im(z) is not equal to 0

Question Number : 180 Question Id : 9277597076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(z)=2/(z+2') garT ST Foler & THEET AT FL F@l 2, z F FEAS FYeAT B AT 87
Options :

1w 1e(2)70

Im(z)=0

2. %



3‘\,‘,re(z},0ﬂ?w3ﬁ%

, % Im(z), 0 % TT&T T
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Question Number : 181 Question Id : 9277597077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Evaluate the integral (1/z)dz where C is the circle z=e¢”(ib) where 0<b=<n?
Options :

1. T

Question Number : 181 Question Id : 9277597077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR (1/z)dz FT Hediehad &Y a1 C Jed z=e"(ib) & el O<b<n?
Options :

1.« T

Question Number : 182 Question Id : 9277597078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How many real roots are possible for the equation x°-x*+x3-1=07?
Options :

1.« at least one real root

> % no real root
3 % atleast two real roots

4 % atleast three real roots

Question Number : 182 Question Id : 9277597078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHROT xi-x+x>-1=0 & T foraat aeafes A7 @9 & 2

Options :

=
L coddH Ueh dlifdlden Hel

- FI5 IEdTaH HeT FAel 8

, x 7O a1 arEdtas HA

[t [ ™
, % TLIaH i ATEdTEe 7

Question Number : 183 Question Id : 9277597079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The line integral of function F = vzi. in the counterclockwise direction, along the circle x*+v* =l atz=1 is?
Options :

1. T

2. % Tl

Question Number : 183 Question Id : 9277597079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

z =1 W, GoId F = yzi # @ TATHeA, TGS G &, Fod x3+y* = 1 & Ty 2
Options :

|« T

2. % -Tri

Question Number : 184 Question Id : 9277597080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the minimum degree of polynomial with integer coefficients, having roots 2-v5,3.4?



Options :
1% 1

I

Question Number : 184 Question Id : 9277597080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 5 [d .
2-\5,3,4 Hel FTel U QIED % T SgIc Eo) A H Hld T grefr?

Options :

Question Number : 185 Question Id : 9277597081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the residue of (2z+1)/((z+1)(z-1)) at z=17
Options :

1% (172)



Question Number : 185 Question Id : 9277597081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z=1 W (2z+1)/((z+1)(z-1)) FT HTAT (IFT) AT FL?

Options :
L x (112)

, v (32)
s % (512)

4 % (712)

Question Number : 186 Question Id : 9277597082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the residue of z3/(z>-1) at z = infinity?
Options :

1 ® 1



2. % 2
3.¢ -1
4. % -2

Question Number : 186 Question Id : 9277597082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z = AT W 2%(23-1) 1 3T (FF) 7T F2
Options :

1 # 1

Question Number : 187 Question Id : 9277597083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a polynomial ring?
Options :

| = QIx]

) ® Clx]



3 % R[X]

4 v RIX]-Z[X]

Question Number : 187 Question Id : 9277597083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefafee & & #ia sgwdg gog =& 2
Options :

1w Qlx]

, = CIxl
, » RIK

4. v RIX-Z[x]

Question Number : 188 Question Id : 9277597084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the wrong statement
Options :

| » IfRisintegral domain then R[] is also an integral domain

» % IfRis integral domain then unit of R and R[x] are same



3 « R[x]is not CRU

4 % R[x]is infinite ring

Question Number : 188 Question Id : 9277597084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS FUT FT TIA FL
Options :

|« & R TATHS 9AEET § A R[] 87 TATHS TR @
, » & R TAMRES FeEais § aF R 3K R[X] & $F15 A ¢
; » RIX] CRU &1t &

, » RIX] ¥a g7 &

Question Number : 189 Question Id : 9277597085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifu=(1,0,1)v=(0,1.1) find the cosine of angle between these
two vectors using inner product?

Options :

v 172)

) % (13)



Question Number : 189 Question Id : 9277597085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afg u = (1,0,1) v = (0,1,1) HTTNF 3G T 3TAT F S ST AIGRT & &= & HIOT T FI=AT A9
L7

Options :
L (112)

) w (1/3)
s« (174)

4.% 0

Question Number : 190 Question Id : 9277597086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem connects the result <T(x),y>=<x,z>?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. Picard theorem

2. Riesz representative theorem



3. Hahn Banach Theorem
4. Hilbert Theorem

Question Number : 190 Question Id : 9277597086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI 1 99T gRome <T(x),y>=<x,z> Call Gﬁ@',T‘IT %?

Note: For this question, discrepancy 1s found in question/answer. So,this
question is 1gnored for all candidates.

Options :
1. 1S uig
2. ot wfaffer uag
3. & I U
4. feesé yy
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Question Number : 191 Question Id : 9277597087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Educational realism is the belief that we should study , critical thinking, and the scientific method to teach students to perceive and
understand reality.

Options :

1. * irrational
2. ¥ logic

3. % fallacy

4. * incoherent

Question Number : 191 Question Id : 9277597087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferp gUTdare Ues foaR g b 5 B &) aRdfddl &1 1Y 8 3R JHgH & faw g & forw  JTARATHD fidT 3R
AE Tl BT 3T BT AR

Options :

1. % dobgi
2. v b

3. % T de

4. % 3UdgG (3HIR<)




Question Number : 192 Question Id : 9277597088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Constructivist theory in education is based on

Options :

1. # the idea that learn from the society

2. % the idea that teacher give

3. ¥ the idea that people actively construct or make their own knowledge

4. % the knowledge from the book they learn

Question Number : 192 Question Id : 9277597088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e gl wenuiRa g

Options :

1. % gg fouR o 9re @ FEar e

2. % g8 faR o e a1 g

3. ¢ g8 fauR fo v gfsa 0 ¥ fAmior sd § a1 301 I 68 991 §
4. % o9 s @ Hd € S99 I

Question Number : 193 Question Id : 9277597089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CIC stands for .

Options :

1. # Competent intern classroom

2. % Competent institutional classroom

3. # Competent interactional classroom

4. ¥ Classroom interactional competence

Question Number : 193 Question Id : 9277597089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
CICH QU guT 2

Options :

1. % HTUfe< S FARSH

2. % HYfc SRR A

3. % BT IR FATIH

4. ¢ FATIRH SeaAd BT~

Question Number : 194 Question Id : 9277597090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hard applied discipline emphasizes on which of the following?
Options :

1. ¥ Emphasize Products and techniques

2. % Emphasize discoveries and Explanations

3. ¥ Emphasize understanding and interpretation

4. ¥ Emphasize Process and Protocols

Question Number : 194 Question Id : 9277597090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B3 SIygad ST Fufafed 3§ ¥ frg weiR arg?
Options :

1. ¥ IS} 3R TP+l TR SR T 8

2. % il 3R TYBIPHUN WR &l §

3. % A 3R TRAT R SR AT 7

4. % YHaT 3R WP |R SR Gl o

Question Number : 195 Question Id : 9277597091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which pairs help participants to develop interpersonal skills, confidence, communication, and assertiveness?
Options :

1. ¥ Male

2. % Female

3. ¥ Mix gender

4. # Transgender

Question Number : 195 Question Id : 9277597091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI Ul Sist TR DY RTINS DI, STATYN, TR R @R [aHRid 3 H TGE HRdl 67
Options :

1. % oY

2. % Hfga

3. ¢ e Siex

4. % TIEOIEY

~

Question Number : 196 Question Id : 9277597092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which colour is regarded as masculine?
Options :

1. % Red

2. ¥ Blue

3. # Pink

4. #® Grey

Question Number : 196 Question Id : 9277597092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P 31 1 TW [T e 82

Options :



1. % o1d
2. ¢ Yl
3. % T[crat
4. % R

Question Number : 197 Question Id : 9277597093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From following which is not a type of Blog?
Options :

1. # Personal blog

2. # Group blog

3. % Micro blog

4. ¥ Social blog

Question Number : 197 Question Id : 9277597093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied & @ & 91 RIgIER (&) &1 ISR T8 82
Options :

1. % HfddiTd FIgIhR (slT)

2. % T g (<r)

3. % g FIgThR (&)

4. TSI FRISTHR (sdlT)

Question Number : 198 Question Id : 9277597094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not a part of Organisation and Integration of Learning Experiences and Content?
Options :

1. % Available learning situations in school



2. ¥ Principles of teachers
3. # Inputs for effective classroom interaction

4. #® Developmental level of learning

Question Number : 198 Question Id : 9277597094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T WS 3R AT 3rgval 3R favasd & Ul &1 fewT el /2

Options :

1. % fqeraT o Iuasy SifeH & fRufa
2. ¢ gl & Rigid

3. % YUl DHEe 3id:fehar & ferg 39Ye
4. % 3fTH BT [AHTHTHD TR

Question Number : 199 Question Id : 9277597095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the major means of learning.
Options :
1. ¥ Practice
2. ® Writing
3. ¥ Reading
4. ¥ Experience

Question Number : 199 Question Id : 9277597095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHFATH T UE e g |

Options :

1. % 3

2. % g

3. % 3yd



4.9 va

Question Number : 200 Question Id : 9277597096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 2009 which Shiksha Abhiyan was launched ?
Options :

1. ¥ The Rashtriya Madhyamik

2. # The Prabhakar Madhyamik

3. # The Secondary Section

4. % The primary Section

Question Number : 200 Question Id : 9277597096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 e I 2009 H = foram wam m
Options :

1. ¢ P ATeATHD

2. % PHTAR HIHTHD

3. % HIAHD TS

4. % YIYfHeh ©S



